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Topic:- Grad_Nutrition and Health

1) Mid upper arm circumference is a useful indicator of nutritional status and

helps to rule out:/ A HUI Fig Ft ui¥fl, Ty AT &1 v Iuaift Ghae g 3
P @IS B § AR 8:

1. Muscle wasting/ U=l &
2. Body weight and bone weight/ TRR & YR Td 3R & YR

3. Metabolic age/ ERIER]| 3
4. None of these/370 ¥ &I Tl

Correct Answer :-

« Muscle wasting/ U= &3

2) Protein content of mal-nourished pregnant mother can be increased by?/

puIfta mfadt amar d wid= # 7 ERT 9¢T3 o qHd! 8-

1. Strained grained meat and fish both/ & g311 gMeR A9 9 g3, gl

2. Soups of mashed dal/ T2 g8 a1 & gU
3. Addition of skim milk/ HdTE IR Y
4. All of the above/(fq?iaﬁ ekt

Correct Answer :-

« All of the above/3udad I+
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is the process by which individuals immune system becomes fortified
against an agent know as immunogen./ a8 uferar, e gRT aafed &1

ufaRe a1, ufaRems (FgAeH) ATHS Toie & favs Tdipd 8 wrdT §, Feardal 8
1. Active Immunity/ Tfeg ufaRen

2. Passive Immunity/ FTSpg gfoRer
3. Immunization/ UfcRef&mzor
4. None of the above/ 3udad # J ®Ig ol

Correct Answer :-

« Immunization/ UfaRefi@vor

4) Which amino acid is deficient in cereals?/ 3ATel ® frg i e &t PHt
Bl 82

1. Methionine/ AR

2. Tryptophan/ E@ﬁﬂ

3. Lysine/ <R

4. Phenylalanine/ﬂ?ﬁﬂwﬁﬁ

Correct Answer :-

« Lysine/ ArARA

5) Studies have shown that consumption of fruits rich in ascorbic acid with
major meals can improve:/a{‘r‘II'CF-ﬁ J gd1 el % & T YISl & 91y qw‘f% 3T
¥ 9YE wdl & 99T | o JUR 3 gPHal 8

1. Haemoglobin levels/ élﬁl‘é foT & &R
2. Cholesterol levels/ BRI & &R

3. Triglycerides levels/ EAléii?IFR 38 B TR
4. None of the above/ IWRIFd H I ﬁ'sf Bl

Correct Answer :-

« Haemoglobin levels/ Bﬁtﬁ'@ﬁ? P TR

6) Dietary intervention to relive morning sickness should be:/ Waﬁ

ITBT34l T IEd ¢4 & AMERIY &y & Fa1 i1 Urfeu?
1. Dry carbohydrates food like crackers/ @Tb‘lﬁﬁﬁq@? g vty S ey
2. Low sodium diet/ %W GIfSTH dTall 3MER
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3. Antacid/ TUeTs (Ufdsna)
4. Intravenous fluids/3:RR1T (Suerd=¥) aRd

Correct Answer :-

« Dry carbohydrates food like crackers/ ﬁ@aﬂ@ﬁ%mgf T uerd oY ey

7) Elders who have limited access to food, living alone, low income and poor

transport facilities are vulnerable to:/ 1 95 @feaal & U Hiw= 3t Aifaa ugd
B B, St P TEa &, Rt oma w0 Bt B ok R ur ufvag ot wv1w gfawrg gidh
§d__ ¥yl arRfa@ Bd €

1. Protein energy malnutrition/ 9EIH Sulf GHUISor
2. Energy malnutrition/ 35Sl HUISOT

3. Protein malnutrition/ UIcHH $UIyul

4. None of the above/G'CIﬂEH el Tﬁ'sc gl

Correct Answer :-

« Protein energy malnutrition/ SEH ol HUISOT

8) The maternal body supplies nutrients to the foetus, through special life

support systems:/ ATdT &1 IR fa=I9 Sfiaw smemdt a=ai & areny & My Ry &t
Qv deal Bt Mgfd a1 B1 98 9 &

1. Placenta/ 3MORI/SISTeNA (T¥e)

2. Amniotic fluid/ 3ed TRd (TS Udgs)
3. Umbilical cord/ AR (FTHATa)
4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad

9) Standard precautions to be adopted to prevent spread of pathogens in
spreading tuberculosis infection include./ S[ERFATNTT YHHU e ara
ISP BT Harg Ad- & g sroardt s arelt g graurtray & wnfira 8:

1. Hand hygiene/ 8T &1 Wqwadl
2. Proper personal protective equipment/ 3feid fdTd Y& SUBRUI

3. Respiratory hygiene and cough etiquette/ ¥4 Tra TesdT 9uT W gt RvER
4. All of the above/ I0dad T+t
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Correct Answer :-

« All of the above/ B“C@Tﬁ ot

10) Vaccine contraindicated in Pregnancy is:/ ®I9-IT aRi_ THiawr & fAfyg 32
1. OPV

2. Influenza/ TURIUSIT

3. Rubella/ e

4. Tetanus/fccg

Correct Answer :-

« Rubella/ 9dl

11) What are the measures that can help in shaping food behavior of school

child%en?/ﬁmﬁtﬁaaﬁ%mﬁﬂ?wﬁwaﬁWaﬁﬁ'aﬁmﬁmme’r
TPhd 82

1. Ensure the child gets adequate servings of fruits, vegetables and dairy products/

A &3 6 9= &) vaia A & wa, gferat 3R gy I iy

2. Teaching the impact of different foods on health/ W= W faf¥a @ uerdf & guE &
R H dHT

3. Inculcate good eating habits/ @H-UM &1 3w} 3HTad @1

4. All of the above/G’q?jTﬂ ekt

Correct Answer :-

« All of the above/3udad I+

12) What is essential for meeting nutritional needs of essential fatty acids
like alpha linolenic acid and linoleic acid?/3Ta%g® a7 3%, JY TpT faAafe
3| w4 forfere sra snfe &t wiwur wwa=t smazawarat & gfd & fg & smazas g2

1. Lipids (Fats/oils)/ faftrs (am/da)
2. Carbohydrates/ Wﬁ%ﬁ@j—c’

3. Proteins/ UIcH

4. Vitamins/ foer =

Correct Answer :-

« Lipids (Fats/oils)/ faftrs (awm/da)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

13) If the mother's diet is qualitatively and/or quantitatively inadequate, it

will:/ gfe 9Tar &1 3MER U 91 ATEATHS P I i g af 98:
1. Limit foetal growth and development/ ‘Tﬂ-m[ﬁlﬂﬁ Jfs 3R fawrg &) Hftrg = am

2. Enhance growth/?{@ delT
3. Enhance development/ fa®™T S@I

4. Enhance outcomes/UiRUMH TG

Correct Answer :-

. Limit foetal growth and development/ TH® R &1 3fS 3R fawrg &1 Hiftg = am

14) Low birth weight is due to a number of factors including:/ W & I UR
P g1 & D $S PR 8 IPd @ 940 A 2

1. Age of the mother/ ATl &1 3G
2. Multiple births/ & ¥ 3{fd% Ui

3. Improper/inadequate prenatal care of the mother/ AIdI P &Fjﬁlﬁ | I pa i qg-q'_qj

4. All of the above/ B“q?j?ﬁ gt

Correct Answer :-

« All of the above/ B“q?j?ﬁ gt

15) Hepatitis A is caused due to:/gUcrsfed A & BRI gidT 8:
1. Feacal contamination/ Hdl H<NUl

2. Contamination of food/ HToiH JgyUl

3. Contamination of water/ SIcl VU

4. A bacteria called serum hepatitis/ I3 gUCIZ[cY AHD Th SIdTY]

Correct Answer :-

« Feacal contamination/ H& J<VUl

16) A mineral important for good development of bones and teeth is:/ T

@fe <Y fRm 9 gfal & = fawra & e weayf 2-
1. Selenium/@ﬁﬁﬂ'ﬁr

2. Iron/ 34
3. Calcium/ SieRag
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4. Copper/a?\I"CR

Correct Answer :-

« Calcium/ S

17) The recommended energy and protein for preschoolers (1-3 yrs) as per

ICMR 2010 is-/ ICMR 2010 & IR Jd-fagmeadt a=i (1-3 awf) 3g et d Wi ot
3rgifra ey argafa @ -

1. 1060 kcal - 16.7 grams/1060 fhaidaR! - 16.7 UH
2. 1400 kcal - 20.0 grams/1400 felidaRt - 20.0 719
3. 1660 kcal - 16.7 grams/ 1660 falidaR! - 16.7 I19
4. 1360 kcal - 20.0 grams/ 1360 fFaidpart - 20.0 IH

Correct Answer :-

. 1060 kcal - 16.7 grams/1060 fFalbaR! - 16.7 UH

18) Low protein diet during pregnancy leads to?/ THIGRIT & R HH WA arad
3R & HRUI T gidT 82

1. Nutritonal edema/ TIVUT =i TSHAT

2. Cause anemia/ IadTeddl (TITHA)

3. Effect milk secretion during lactation/ XU & aRT gy HFId DT qyifad g
4. All of the above/ Iudad T+

Correct Answer :-

« All of the above/ B’q?i?ﬁ ot

19) Pellagra is primarily due to deficiency of:/ &I H8Id: P FH |
a?ﬂ %:

1. Riboflavin/ IrgegRifa

2. Nicotinic acid/ FifeH® s
3. Thiamine/ YA

4. Pantothenic acid/aﬁm AT

Correct Answer :-

« Nicotinic acid/ R®ifef e sna
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20) Complete the following NNMB:/ NNMB &T R ATH ¥dIC:

1. National Network Management Bureau/ “RMd Hcdd Hoc &IR1 (APTA Horel Ta=d
o)

2. National Nutrition Monitoring Bureau/ W?Q@SZH e @I\Pf (TFQW GIyor fATRTL
o)

3. National Nutrition Management Board/ SRR d;l\c;leH AaoHe 918 (TI@'CItﬁTSl'UT Ud=+
aikug)

4. None of the above/ wjaa =l ﬁ's: T8l

Correct Answer :-

. National Nutrition Monitoring Bureau/ =d J¢IRM AR &R (AP U0 AR
)

21) Which of the following is not supplementary feeding program?/ 38 &
DI ATRP 3R HTAHH 81 82

1. Balwadi feeding program/ STcaTS! 3TER HTIHH

2. Mid-day meal program/ H¥T& U HdwH

3. Sampoorna gramin Rojgar Yojana/ HTE[UT 0T ISR o
4. ICDS

Correct Answer :-

. Sampoorna gramin Rojgar Yojana/ ¥quf UTHI0T ISR ST

22) Adults nutritional requirements vary with: /99| @ WU JE=A TaGHATT
& AR S-S Bidl &

1. Body weight, age and sex/ IWR & R, Y 9 fof
2. Physical activity/ RIS Tfafafd

3. Physiological state/ TRR fhardA® 3@

4. All of the above/GCPjER-I ekt

Correct Answer :-

« All of the above/GCPiaH ekt

23) Most of the weight gain during pregnancy occurs in the: /THTaRIT & SR
R # aifteiw 9fS # gt 3

1. First trimester/ UBF?[ ﬁl‘mﬁf
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2. Second trimester/ §¥Ii§| ﬁl'ﬁﬂff
3. Both of the above/ JURIad gl
4. Third trimester / ey fawmgt

Correct Answer :-

o Both of the above/ RUCIESEARI]

24) Which of the diseases cannot controlled by vaccination?/ &THur A CaC|
It Frafeal # At T8 forar s gean

1. Polio/tﬁﬁﬁﬁ

2. Measles/ @Il

3. Diptheria/%&ﬁﬁfm
4. Anemia/Q‘ﬂﬁl’CIT

Correct Answer :-

e Measles/ @RI

25) From the 33" week of gestation till full term, a healthy mother should
have prenatal check up every:/ ﬂ'{-ﬁﬂ?ﬂ ¥ 333 9WIE | qADY qu 99 & U9q a9,
WX UTdT ®! P 3T W YHaYd Sird HI1d g1 a1 eu?

1. Weekly once/ I«g ¥ Th aR

2. Once in two weeks/ @l I8 & Tdh aR

3. Once in three weeks/ 9 9@ # T aR
4. Once in four weeks/ IR I § Th IR
Correct Answer :-

» Weekly once/ dWdlg H Th dR

26) The first sign of pregnancy is usually:/ THGRIT BT TgdAT Hbd ATATR W T

T &:

1. A missed menstrual cycle/ iy etf Tt 3
2. Immediate weight gain/ qX¥d HR de-T

3. Nausea/ S9&Tg

4. Brittle nails/HTR ARG

Correct Answer :-
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« A missed menstrual cycle/ ARI® ¢ T} 3T

27) Increasing the amount of sugar in ORS formula:/ ORS BIYd # T Bt ATAT
¢ ¥ FT FI?

1. Worsen diarrhea/ & 3R foirs Smad)

2. Increases nutritive value/ LILER G de SITE

3. Dangerous/ 98 TP Bl ST

4. None of the above/ IWRIad & ¥ HIs el

Correct Answer :-

. Worsen diarrhea/ & 3R foirs Smaa

28) Discoloration of teeth is caused by a kind of antibiotics called:/

1. Penicillin/aﬁﬁﬁﬂ

2. Streptomycin/ TPHRRA
3. Tetracycline/ é@%ﬂ&%
4. Neomycin/Fammai=

Correct Answer :-

. Tetracycline/ cCIfGA

29) All are true about measles except:/ IR & G H 390 4 fF4 SisH? A9
Tt @ 82

1. Sub clinical infection/ T&UIGIH JehHUI
2. Incubation period of 10 to 14 days/10 T 14 71 & IThga 3@afy
3. More severe in maInourished/?@Iﬁ?ﬁﬁ 3w TR

4. Secondary attack rate of 30%/fgdld® 3THHU &R 30%

Correct Answer :-
« Secondary attack rate of 30%/f&da® 3MHH &R 30%
30) What are the functions of food?/ HISIH & &1 HTH 54

1. Maintenance of life and protection/ g HTIH IGT 3R TR&IT
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2. Growth and development/ qf& 3R A

3. Functioning of vital organs and production of energy/ Hg@Yul 31l &1 ferar=iiear qur
Sl BT I

4. All of the above/ Iudad T+t

Correct Answer :-

« All of the above/ I0ad i

31) The recommended dietary allowance for protein for a pregnant woman

as per ICMR 2010 is:/ ICMR 2010 & 3R THadt Tt 3 Wi &t erqRifya
e srgHfa e

1. 78 g / day/78 ui/feq
2.58 g / day/58 T/feA
3.50 g / day/50 Tr/feq

4.55 g / day/55 T/feT

Correct Answer :-

. 78 g/ day/78 W/feA

%2) Incubation period for mumps is:/ FUYARMY/TAYST (HT) BT IMga 3rafd

1. 10 days/ 10 faq
2. 18 days/18 fea
3. 5 days/5 faa

4. 14 days/ 14 faa

Correct Answer :-
. 18 days/18 f&A

33) Modifiable risk factors in case of Hypertension include all, except:/ 3=
IGqaTY & ATHS | 34 A {5 Bl a7 o= It FiRay sRet | "=y fear s a&ar
82

1. Alcohol intake/ Qccr;lsm P1 o

2. Age/ 8l
3. Obesity/ HieTdT

4. Salt intake/H % &1 Ad
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Correct Answer :-

34) Which factors affect malnutrition?/ HH-8 HR® FUNU S THTIIT Fd 82
1. Food availability and food accessibility/ HISH T IuAd GﬁT{K’mﬂT

2. Ecological and environmental factors/ IRGECIE Tq faRofig RS

3. Economic and pathological conditions/ 3% Td ATee fRufaai

4. All of the above/quTﬂ ekt

Correct Answer :-

« All of the above/G”quﬁ ekt

35) Infectivity of chickenpox last:/ BIdl Tu® (fRIG-ured) &1 GhTHEHdT

<t 8

1. Till the last scab fall offs/ 3TRR TTS! R WM T

2. 6 days after appearance of rash/ ek fdH & 6 fo 91¢ d&
3. As long as fever last/ Sd d& Tg’@lTIT%’ dd do

4. 3 days after appearance of rash/qaR fa@- & 3 fad a1 &

Correct Answer :-

« 6 days after appearance of rash/ aaR fe@ & 6 fod 91 d&

36) As per ICMR 2010 what are the dietary allowances for vitamin C for an

expectant mother?/ ICMR 2010 & 39R, THadl Tl & fag faerfie ¢ 3t smerg
3rqufa fpa- 82

1. 60 mg / day/60 feam/fa
2. 45 mq / day/45 fion/feq
3. 55 mg / day/55 fFE/fea
4. 40 mg / day/40 fan/fea

Correct Answer :-

« 60 mg / day/60 fFrn/feA

37) Under five clinic are meant for?/ Urg & &9 (3USY WI1gd) FA® fe forg
Tid g2
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1. Immunization/ UfaRefieo
2. Nutrition education center/ TIVUT fR7&T 5
3. Both of the above/B'CIflaﬁ E|

4. Pregnant mothers/ e

Correct Answer :-

e Both of the above/maﬁ CAC|

38) They play an important role in the regulation of the metabolic activity in
the body and help in utilisation of the proximate principles:/ 9 TR § =TI
nfafaf & oo & gyl yfrer fFurd § iR Mo ga 9ai & Suahftewor o
e 3 §

1. Vitamins/ faeTfA

2. Minerals/ EEIE ]

3. Vitamins and Minerals/ faeifiq oiR @ et
4. None of the above/3IWIad ¥ ¥ &5 g

Correct Answer :-

e Vitamins and Minerals/ faerfim ok @l e

39) The following is a list of symptoms of nutritional deficiency disorder, tick
one correct related to scurvy:/ = WYl GAdT faprRl & @eor 3w e &1 98 @&
A o Tpdl | JHERId @

1. Crack on lips/ 8181 &1 HeAT/gId] H @R
2. Spongy bleeding gums/ TSt A 3R I IGAHE BT
3. Mental changes/ A& gfRadq

4. Rashes on skin/dl UX aan

Correct Answer :-

« Spongy bleeding gums/ ot ﬂﬁ% 3R 3T adErd g

40) Smallpox was eradicated because of the following factors except:/ s-rn?r I

P BIe®T o BRB] S PRU AP (FTAUTGT) BT I &l UrT U1?
1. Long incubation period/ & JTTga 3fafd

2. Extra human reservoir control/ 3ffafkad AMa YR fazm

3. Potent vaccine/ faa=Iel daie
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4. Easy to recognize/ Uga™ H IRadl

Correct Answer :-

« Extra human reservoir control/ 3ifdf¥ad AMa HIR a0

41) Which of the following vaccine was introduced most lately?/ Iad Wﬁ'

30 ¥ BIH-IT dRAT WRqd gorT 872
1. Rubella/ 3sdr

2. Measles / @]

3. Pertusis/ qﬁﬂ%ﬂ
4. Mumps /& OTHARIY/TARISAT (HI)
Correct Answer :-

« Rubella/ 3dal

42) Vaccine which requires most stringent condition for storage:/ f&3d aR=

& YUSRUI & fog wad st Rufaat arfge?
1. BCG
2. OPV
3. DPT

4. Tetanus toxoid/ ccg ETH?IT’{S’

Correct Answer :-

« OPV

43) Green leafy vegetables and fresh fruits are good sources of:/ T ™eR

gferai iR a e B P ADBIAGEI
1. Dietary fibre/ 3ERIT
2. Protein/ UIeH

3. Fat/ 941

4. Cyanocobalamin/Jra-ie aTemia-

Correct Answer :-

« Dietary fibre/ STERIT
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Puerperium period of women last from:/ &gt ot U dTdRIT (wahwa) G|
3afy g -

1. End of labor to six week after that/ Udd P! JHIMT Y dPR 9P d1¢ & ©: I8 ab
2. During the process of Natural birth/ q@ﬁ@ Ugd &1 Uihar & SR

3. During last trimester of Pregnancy/ TYfaRT ot Sif< faATe & SRM

4. All of the above/B'q?jaﬁ gt

Correct Answer :-

e End of labor to six week after that/ Udd P JHINGT ¥ ABR TP dIC & S qUdlg do

45) Major epidemics of influenza A occur at intervals of:/ STRIIHT A 3 T81

HerHTRAi ¥ RTa W Had &
1. 2-3years/2-3 GL

2. 10-15years/10-15 99

3. 20-25years/20-25 qY

4.1 year/1 qy

Correct Answer :-

. 20-25years/20-25 d§

46) The peripheral worker of ICDS scheme is:/ ICDS QT & U srdeat %
1. Trained dais/ UfRIférd agai

2. Anaganwadi workers/ Gﬁ"ﬁﬁ@ﬂv‘rﬁ?ﬁm

3. Balwadi workers/ W@W

4. Health guide/ W= Arfcefe

Correct Answer :-

« Anaganwadi workers/ 3{FTaTS! HRIG AT

47) Which of the following is an advantage of breastfeeding?/ 37H d aﬁ'—r,
U BT TP 1Y 82

1. Breast milk is perfectly suited to the baby's nutritional needs/ HIdl W@Hﬁl"{[ﬁ
Q90T Jra=l SaRgdhdrel & o sexf 0 & Iuged gidl §

2. It contains maternal antibodies and immunological cells that stimulates immune
system of babies/ IH HIdT § UK UUCIAIS! T UfaRe HIRHTE Bict € Sl R & UfoRem o
B LI B B


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3. Breast fed babies have fewer allergies/ ATl & YW Tl f?l‘{[@rﬁ %! wargt wF gl 8
4. All of the above/3udad It

Correct Answer :-

« All of the above/G’qu?H gt

48) Susceptible host is the host who has the immunity:/ yeureite urdt ag urdt @
fored yforanm erman g1t 3

1. Yes/ ET

2. No/ H?ﬁ
3. May be/ R0q

4. None of the above/duﬁdrl T ¥ g ol

Correct Answer :-

- No/ gl

49) A major nutritional problem affecting young children leading to blindness

is:/?ﬁﬁmwmwm,mwwmﬁmﬁﬁmmmm
Tl 8:

1. Iron deficiency/ 3TORA P HHI

2. Vitamin C deficiency/ faerfim c &t &t
3. Vitamin A deficiency/ facifia A &1 ol
4, Calcium deficiency/m PI HHI

Correct Answer :-

« Vitamin A deficiency/ facifi= A &t &t

50) Diet that is appropriate in normal pregnancy should be adequate in:/

Pt Taied AT aTeT STER T YT ¥ i Suge 8T @:

1. Proteins, vitamins, minerals, carbohydrates, fats/ Eﬁ‘cﬁ‘[, ﬁaﬁﬂ, @ﬁ\—rr, EIO‘ITSI%TEI@E,
adr

2. Fats and Minerals/ ddT1 3R @
3. Carbohydrates and vitamins/ Taig2se T faerfi
4. Proteins, carbohydrate and fats/ Eﬁ?ﬁ:l, awra‘fgrqae Td 991

Correct Answer :-
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« Proteins, vitamins, minerals, carbohydrates, fats/ Eﬁ'c’ﬁ, ﬁaﬁ'—r, @Iﬁ\si, d)ldequjc,

51) Amino acids that are indispensable and are not synthesized in the body

are called: /9 34T 3T &t 3Ufvgrd & SR IR A IwNT Agi 84, wgard o
1. Mutual amino acids/WW ST 3

2. Non-essential amino acids/ 3FARAH (Fi-3URR) HHAT 3T

3. Significant amino acids/ Ag@YUl S{HAT 3T

4. Essential amino acids/3Taxa® (SUREW) 3T 3

Correct Answer :-
« Essential amino acids/3{Ta%a® (SUREW) AT 3T

52) 70% or more of the pre-school children, 90% or more of pregnant
women and adolescents girl suffer from:/70% ¥ 3% gd-faemerdt = U1 90%
¥ orftre mfadt Raai wd formmfvai | fifsa gl &

1. Iron deficiency/ 3TORA BT HH

2. Sulphur deficiency/ Heh P HHI

3. Magnesium deficiency/ fRam &t Ht
4. Phosphorus deficiency/ BRHRY T HHT

Correct Answer :-

« Iron deficiency/ 3TORA CakcLil

53) The diseases notifiable to the WHO under the International Regulation

Act are except:/ 39 ¥ foFd BIs X 3= A1, =RIEH frawe arfufaw & smfa
WHO & 3iftRgE-1a &:

1. Plague/ T

2. Dipetheria/ fewiifar
3. Cholera/ &oT

4. Yellow fever/ od SR

Correct Answer :-

« Dipetheria/ fe®iifear
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A physician who specializes in providing care during pregnancy:/ g% RIfvcs

S THTTRIT & SRTH @I B34 | fIuy giar @
1. Pediatrician/ STARRTARINT
2. Gynecologist/ TWRINIRN

3. Obstetrician/ Ugfdfag=t
4. None of the above/ SR T I ﬁ'sﬂ ol

Correct Answer :-

« Obstetrician/ Dﬁﬁlﬁ?ﬂ‘ﬁ

55) In which year targeted public distribution system was launched
replacing nearly universal public distribution system.m Ty # grdeifae faawor
gomelt 3R g8 At o FrwRT Jrdhvitfre ardwifae faaRor yormedt &1 wiE & o ur?

1. 1984

2. 1990
3. 1997

4. 2001

Correct Answer :-
« 1997

Topic:- Grad_General Knowledge and Logical Ability

1) A sum of Rs.53 is divided among A, B and C in such a way that A gets Rs.7
more than what B gets and B gets Rs.8 more than what C gets then ratio of

their shares is:/ ¥Ud 53 &I A, BdYUT C # 39 d3g dicATg fF A B B 4 TW© 7 3fie
I &1 94T B &1 C I & 8 3ifs urwd g1, a1 39 fawal &1 3rgurd &:

1. 25: 18: 10
2.6:7:8

3.1: 4: 9
4,.5:8:3
Correct Answer :-
« 25:18: 10

2) If a pen is sold at a gain of 6% instead of at a loss of 6%, then seller gets
Rs.6 more. The cost price (in Rs.) of the pen is: /3¢ Th $TH B 6% BIf P
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3T 6% Y W 91 91, ) fashar &) Tl 6 3rfie ure 8l | FaH &1 Faq (3. H) ©:
1.40
2. 66
3.50
4. 36

Correct Answer :-

3) The main chemical substances present in the bones and teeth of animals is:/\‘rlr_xjaﬁ * a'l?ﬁ q
SR & gera: S A1 I ugrd urar S 82

1. Sodium chloride/MSTH FARIZS

2. Sugar/ BT

3. Calcium Phosphatemm BIRUbGC
4. Calcium Sulphate/av—%ﬂm:f e

Correct Answer :-

e Calcium Phosphatemm BRUGC

4) According to the National Food Security Act, 2013, which of the following
options are not true? / T TN GL&T ATATHIAN, 2013 Fraeft A fAwedi § & F=4r 98r

ol 8?
1. It extends to whole of India / 8 T¥ WX & @] &
2. There are 5 members in the State Food Commission / Trs7 @Ter Afafad # 5 9a€7 gid &

3. Both of the above / 39k =T
4. None of these / z7® & FIE Ll

Correct Answer :-

« There are 5 members in the State Food Commission / 157 @t G HTd & 5 9a=T 214 &

5) Riboflavin is-/IT3SITATI 8-
1. Vitamin A/ faeTi#T A

2. Vitamin B2/ faeTfi ot 2

3. Vitamin ¢/ faeTf# ¢

4. Vitamin B12/faeTf&= &t 12
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Correct Answer :-

e Vitamin B2/ f[derfem &t 2

6) Saliva hydrolyses starch to which compound: /HIFd ¥R T werd &1 fage 5w aiffre o giar %

1. Glucose/ W

2. Sucrose/ W
3. Fructose/ ThaeIq

4, Acetic acid / QF]||E$ 3T

Correct Answer :-

e Glucose/ W

7) ‘Swachhta Se Sampannata Ki Aur’ is the tagline of - / ‘Ta=gaT & T¥q=qT #T T
e & 9 forerer SrATeT 82

1. Swachh Swasth Sarvatra / T=g T 999

2. Swachh Bharat Abhiyan / =g wea Jf9am

3. Swachhta Udyami Yojana / Ta=zar I=dT J1eT1

4. Swachh Bachche Swasth Bharat / Ta=g a9 @& 9=q

Correct Answer :-

« Swachhta Udyami Yojana / ¥=gaT 3=r|T JTsT1

8) Walking at 3/4 of her normal speed Tanvi takes 2 hours more than the
normal time. What is her normal time?/ (Uit STHT=I Tfd &1 3/4 wﬁrﬁaﬂ%@z
T 3T AT 0T A &) el 3ifs Juy ddt 8, 9t S QT 9Hd 1 32

1. 2 hours/ 2 dcTl
2. 5 hours/ 5 9T
3. 6 hours/ 6 ©cl

4. 8 hours/ 8 ©cT

Correct Answer :-

« 6 hours/ 6 ©cl

9) How many categories of awards are there in the scheme Saanjhi? / T@i=t

TISTAT F Saud fohd= T & T R S[ITaRr?
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1.2
2.3
3.4

4.5

Correct Answer :-
e 4

10) Female sex hormone is-/ HTqI for E'TlﬁT'T %

1. Androgen/ QU_Q; SE|
2. Adrenalin/ Qgﬁ oM

3. Insulin/ 3=gfeH
4. Oestrogen/ Q@Gﬂ

Correct Answer :-

» Oestrogen/ Q@Tﬂ:{

11) With respect to the Child Marriage Act, 2006, find the correct sentence
out of the following options. / at= faaTg srferf=aw, 2006 F wfaa e Tl & ¥ =gt
foreeT T =F97 FL |

1. This law is also applicable to citizens of India beyond India / Tg ATARIT 9=q * I8
ATEATT AN 92 A A0 &

2. This law is applicable to whole of India, except Jammu and Kashmir / 7g sfafaas
STHY S FIHIT F FATAT L A H AN

3. Both of the above / 39Z=F &l
4. None of these / =% & &I A&l

Correct Answer :-
« Both of the above / 39Z=F TAT

12) A group of men decided to do a work in 10 days, but five of them absented
themselves. If the rest of the men finished the work in 12 days, find the number
of men that had initially decided to do the work./ &l &1 TH T fHdt w1 &1
10 31 o 1 H== BT =g a1 8 Afp 370 A 5 el Ul g1 o1d 71 afS A ameeht I
P o1 12 A1 § 1 #ed 7,9 srefia @t e srvy # fhad! Az

1. 20 men/ 20 3{TGHT
2. 30 men/ 30 3TcH!
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3. 40 men/ 40 3{TcHT
4. 50 men/ 50 3MGHT

Correct Answer :-

« 30 men/ 30 3MGHT

13) The subnet mask for a particular network is 255.255.31.0. Which of the
following pairs of IP addresses could belong to this network? /{3l Aead &
T e UR® 255.255.31.0 31 9 & A ®19 I1 MW ud & WSt 59 Aead A wafia

2

1.172.57.88.62 and 172.56.87.233
2.10.35.28.2 and 10.35.29.4
3.191.203.31.87 and 191.234.31.88
4.128.8.129.43 and 128.8.161.55

Correct Answer :-

« 128.8.129.43 and 128.8.161.55

14) Till which class is the Mid-Day Meal scheme available to the children? /
HEATH WIS TISTAT HITH FeAT TF TGI 6 (AT I §2

1.V
2. VI
3. VII

4. VIII

Correct Answer :-

15) The blood glucose level is commonly expressed as:/ HTHT=d: Idd S oI fHg Are A
FATIT ST &:

1. Mm of Hg
2. Milligram per decilitre/ feu™ Ufd S¥ieiex
3. Parts per million/ UT¢ R fferm

4. Grams per liter/ 919 Ufd die}

Correct Answer :-

« Milligram per decilitre/ frefum™ ufd S&ficiie?
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16) Which Five Year Plan had launched the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan? & ¥ & &9 9@ JIoT 7 To(a THeft 9=maa qerpen<or
STIATT FT T FhT 1?2

1.9t / 97

2. 10t/ 10-aT
3. 111 /1137
4. 12t /1247

Correct Answer :-

e 12t /1247

17) According to the Dowry Prohibition Act, 1961, which of the following
amounts to being a dowry?/ g« Aue srfaf==w, 1961 & e = & & F=47 fawey
Tl 6T AU | SruIT?

1. Presents and gifts / 398
2. Affectionate and voluntary dowry / 39Ul Ua Tfg# a8
3. Food and arrangements / @THT T a1

4. None of these / 3T IS Al

Correct Answer :-

« None of these / 3Tk Fs A5l

18) Out of Diphtheria, Whooping cough, Typhoid, Diarrhea & Malaria which is not caused by

bacteria?/ FSTRfYaT, Brelt @i, ergwigs, srafvar g wafvar Ay & F w149 difar #t aug
J 6t grar 82

1. Whooping Cough/ CANIREIRI

2. Typhoid /CISISS
3. Malaria / AT

4. Typhoid/CISHITS

Correct Answer :-

« Malaria / TART

19) For how many years can a person be imprisoned for keeping a brothel or
allowing premises to be used as a brothel under the Immoral Traffic
(Prevention) Act, 1956 in the event of first conviction? / s{d® AT (TFHATH)
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Fferf=aw, 1956 % siavta Tgat awt T Rufa # et 7 Jegmerg Tav & forw a7 viEm< #1 39T &
& H TEAATA F B At 39 % forg srferwaw fraw 3ot % forw &g F awar 82

1.3

2.4
3.5

4.6

Correct Answer :-
e 3

20) Which of the following Acts were amended by the Criminal Law
(Amendment) Act, 2013? / sraxrias ffer (semrem) srfarfaae, 2013 % siqsta A & 9 #a
srferfaaat & Semree AT T=T?

1. Indian Penal Code / 9T<diT &< |igar
2. Indian Evidence Act, 1872 / stz arex srfafagw, 1872

3. Protection of Children from Sexual Offences Act, 2012 / =41 &7 & ra=Tet & FLe0r
afarfRam, 2012

4. All of the above / IUI<h THT

Correct Answer :-

« All of the above / 3=k T+t

21) Since which year was the Department of Women and Child Development

separated from Ministry of Human Resources Department to form an
independent ministry?/ a2« v a1 fFwme rwmr S ®9w 99 § wre guree fEwe
HATAT & IO FX Th ST HATAT 79T TIT?

1. 2004
2. 2006
3. 2008

4. 2010

Correct Answer :-
« 2006

22) Which of the following option is best represented by the following

diagram?/ frafafaa & @ &1 a1 fawen o snepfa g1 o=ifar s a@war g 2
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1. Human, Sea, Mountain/H¥, 9'R, UglS
2. Domestic, Dog, Buffalo/UTad, Fal, H9
3. Doctor, Nurse, Patient/3faex, 94, JT7

4, Sun, Moon, Water/“\ff, EETIRCK

Correct Answer :-

« Domestic, Dog, Buffalo/Urdd, P, 0g

23) Which of the following is not a component of the Pradhan Mantri
Swasthya Suraksha Yojana? /5 & & ®I4T fased TeT F3T Tqreeq LEAT FISTAT &7 3T

Tl &2

1. Setting up of AIIMS like institutions / T¥ ST& TRTSAT T TITIAT

2. Upgradation of Government Medical College institutions / a%FT{ Afeer Fterst HEATHT T
EEpE)

3. Insuring the persons below poverty-line for health-care / =T @1 % = Tg+ aTel
FITRAT T TATEST AT o (oT0 FZTAT FHLAT

4. None of these / g% & &g 7!

Correct Answer :-

« Insuring the persons below poverty-line for health-care / T3t Y@t & = @ At
SR T T AT o oI qgrdT w31

24) DIRECTIONS: Choose the missing terms out of the given alternatives./

fordr: fog e fasedl # & g uel &t 91 7 |
r_sr__tsrrt__rr__sr

1. ttss

2. tsts

3. trst

4, sstt

Correct Answer :-
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25) In which year was the Prevention of Women from Domestic Violence Act

passed? / = fEar & afgwr gxeror sfdfaas fra ad o arfa B @ a2
1. 2003

2. 2004
3. 2005
4. 2006

Correct Answer :-

« 2005

26) How many rectangles are formed in the figure given below?/ CIEK] Tli

3rpfa ¥ madl Ft J= frat g2

2.7
3.9

4. 11

Correct Answer :-

- 11

27) Which of the following is included in the term ‘workplace’ under the
Sexual Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013? / HiZaTsil &7 Frdeda < A Ieftew (Fareor, it s gfaam)
fefaw, 2013 & (a¥a 9 ‘FEEIT § W9 § § F47 ATHA 52

1. Dwelling-house/ smaTa[g
2. Sports-complex / @@ 5

3. Hospitals / sreaart

4, All of the above / IUI<F TT

Correct Answer :-

« All of the above / U=k T+t
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28) If you write criteria values vertically (one in a row) it will mean in MS-
Access /MS-Access H, af¢ 30 ATUES U iR forad § (T ufead ®) a1 391 Aaaq
a’rlT:

1. OR conditions / OR &aITH

2. AND conditions / AND HSIH
3. NOT conditions / NOT &3ITH
4. None of these/3TH ¥ &5 ol

Correct Answer :-

« OR conditions / OR &aI¥HA

29) The Ekalavya Model Residential Schools are for the - / Ty Aie IS AT«
o e & & forges forg 872

1. Scheduled Castes students / Jg=d ST & =N
2. Scheduled Tribes students / STE=T ST % BT
3. BPL students / =T Y@t & A= arer g

4. Rural Gifted students / ITeftor sfasmaT &=t

Correct Answer :-

« Scheduled Tribes students / IHRA ST & AT

30) Which of the following ministries is related to Vanjeevan? /assfiaa e d& &
T HATAT § 1T 872

1. Ministry of Tribal Affairs / ST &4 HATAT

2. Ministry of Environment, Forest and Climate Change / 9313w, a9 ¥ STaa1q T&dd
HATAT

3. Ministry of Social Justice and Empowerment / HTHTISTS #IT3 i< SATEERTIAT AT
4. None of these / =% & #Ts gl

Correct Answer :-

« Ministry of Tribal Affairs / SHSITdI T HATAT

31) Which answer figure will complete the pattern of the question figure? /

e ¥ & o1 3t SR N Y s &1 gul wit?
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Question Figure: /993 arepfa:

*

Answer Figures: / 3ea? srgfera :

KA X Bt

(a) (b (€}

1.a
2.b
3.C

4.d

Correct Answer :-

« b

32) Protein responsible for blood clotting is: /W Sit Y& &1 YghT SR & forg Iwrerd &

1. Albumin A / 38 A
2. Globulin / TeIef e

3. Tbrin/ SfsH

4. Fibrinogen/ WE{@T'n\_SH

Correct Answer :-

« Fibrinogen/ BASEEISE]

33) In which year was the National Commission for Protection of Child Rights
set up in India? / < § TET qTH GLAT I HIH q9 | Tioq BFar =2

1. 2005
2. 2006
3. 2007
4. 2008

Correct Answer :-

« 2007

34) Hormone secreted by placenta is-/ STURT (@ﬁa) EIRd rfad ﬁﬁ dardt E\fqﬁ %:
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1. FSH

2. Prolactin/STaTfae

3. Human chorionic gonadotropin/gdH- CAIRSIIREY ﬁﬁ?ﬁgﬁﬁ?
4. Prothrombin/S3TTH

Correct Answer :-

e Human chorionic gonadotropin/gdH- HINRAD 7 |§|S:|§V|a;|

35) In how many years will Rs.1,800 amount to Rs.2,178 at 10% per annum

when compounded annually?/ fFa auf & 3 1,800 I IR 10% a1 whafs
TS D & I T 2,178 g SN2

1.3
2.4
3.3.5

4.2

Correct Answer :-

. 2

36) For which of the following programmes were the Daksh Skills Lab

opened? / ¥ ¥ § &9 FAFAT & oIT 387 Bofeq A T91AT TAT &2

1. Pradhan Mantri Swasthya Suraksha Yojana / eI ®=it Ta1e=a 2T TIeiT
2. Swachh Swasth Sarvatra / T=g ¥ g4

3. Reproductive, Maternal, Newborn, Child and Adolescent Health Framework / 99,
AT, TaSTd, a7l 3T heliT T FTaFwH

4. Mission Indradhanush / s=&qw sTtH=mT
Correct Answer :-

« Reproductive, Maternal, Newborn, Child and Adolescent Health Framework / 9519+,
AT, TSI, T 3T FRemT T vy

37) Which data communication method is used to transmit the data over a

serial communication link?/ FUa FAR o W ST T9ivd 1 & fore o ot s1er
TR Ugfd &1 ST fHar STt 82

1. Simplex/ Rrgeieg
2. Half- duplex/ T% S&id
3. Full- duplex/ W‘g’lﬁ?ﬂ
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4. None of these/é‘lﬁ@faﬂg:lﬁ

Correct Answer :-

« Full- duplex/ Bd §wied

38) DIRECTIONS: Find out missing number from the figures given below./

= - & wit sreforat ® qua Tem wra S

YA D
CIDAC A,

1.117

2.40
3.61

4. 81

Correct Answer :-

39) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /=1 i foE 7T w1 A T8 FY MR ITP 91¢ $© Frepd faw 7w 1 smuwt
fou T HyAY FH@ AT 8, YA 8 3 TduTa 9 A = wella 8 o) | 3uft et @t ufen
ﬁwgﬁy?ﬁq%ﬁqwﬁwﬁﬁﬁﬁqmaﬁmwﬁmmim%maw
O |

Statements: /HY:

Some tables are watches/@%‘ﬁﬁ, ‘a‘%‘*ﬁ%

Some watches are Iamps/ﬁﬂ%‘*ﬁ, Sup

Conclusions: /fea:

I. Some tables are Iamps/@_ﬁﬁﬁ, EﬂW%

I1. Some tables are not lamps/$S A9, U® T8I &

1. If only conclusion I follows /u%mﬁrmh GFETUTW%

2. If only conclusion II follows/3dfe &ad FAsHY 11 &@TUTW%

3. If neither conclusion I nor II follows /afe 7 @l fF156Y 1 T &1 11 &WW%
4. If both conclusion I and II follow /afc fsHY 1 SR II GH 3FIERU Hd §
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Correct Answer :-
o If neither conclusion I nor II follows /H%:r?ﬁﬁ'ﬁb_ﬁf I :[ébf II WW%

40) The first number is twice the second number and half the third number.
The average of these numbers is 35. What is the value of the smallest

number?/ W4H S&AT G ST $1 GRIAT 7 R qeta G&I1 31 3neht g1 579 @13 &1
3T 35 31 T BIE JBAT BT W T 22

1.15
2.20
3.45

4. 25

Correct Answer :-

41) In which year was the Indira Awaas Yojana launched? / 31 srame TismT &7
AT i 9 & FoRaT 37?

1.1982
2.1983
3. 1984
4. 1985
Correct Answer :-
« 1985

42) Which program are used to correct the spelling in MS-word?/MS-word #

TR A W& B F e fp vma &1 Iwah grar 82
1. Spell—pro/@ﬁtﬁ

2. Spell-check/Td U

3. Output/3iI3c Yc

4. All of the above/3Iudad Tt

Correct Answer :-

« Spell-check/Td J&®
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DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e, Frafafad vy A yyares e ?) & =
TR THIT DI AT | ST 2

349.99 x 19.99 + ? x 180.01 = 12000
1.12
2.28
3.47

4.93

Correct Answer :-

44) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fader: frufafed uy o uyers e ) & =
R THIT DI AT | ST 2

4374562 X 64 = ? x 7777
1. 360

2. 3600

3. 36000

4.72000

Correct Answer :-

« 36000

45) Hardik scores 30% marks and failed by 5 marks, while another student
who scores 40% marks gets 10 marks more than minimum pass marks. The
minimum pass marks is:/ BIf¢® ®I 30% 3% UTtd il 3, TYUT 98 5 3ihl A rg=iivl &t
SITdT 8, STafh T 30 BT O 409 37 UTW il g, SHiivl g & Y Saxas <Aaw 8w 4
10 3% 3P U Hear 31 SV g F T Saxas g=aw 3%

1. 50
2. 80
3.120

4. 150

Correct Answer :-
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46) Q walked 20 m towards West, took a left turn and walked 20 m. He then
took a left turn and walked 20 m and again took a right turn and walked 20
m. How far is Q now from the starting point?/Q, Uf3 fezm # 20 Hiex 9ar, fb ame
g1 3R 20 Hiex gar| fpe a8 91¢ gaT1 3R 20 Hiex gar iR fibv a8 3re g1 3R 20 Hiex gar|
34, Q IMRfY® faig & fpait R 32

1. 40 meters/40 Hex
2. 50 meters/50 HIc?
3. 100 meters/100 HIcX
4. 120 meters /120T-ﬁ€?

Correct Answer :-

e 40 meters/40 Hiex

47) What is the term used when you press and hold the left mouse key and
move the mouse around the slide?/ ST AT $oil Bl GITHY TGS & °ARI 3R
HISY BT IUANT H B! T Hed 82

1. Highlighting / BTSqrSieT
2. Dragging/ &id (gffim)
3. Selecting / Id HAT

4. Moving/ Hfd
Correct Answer :-

. Dragging/ &id (SFT)

48) Which of the following Constitutional Amendments had removed the
Right to Property from the Fundamental Rights? / % & & #1979 3T Gees %
FTXT TUTRT T STTAHRT T HIToTeh STTARTLL sht qTToreRT & g1 foaT Tar?

1. 42"9 Constitutional Amendment / 42-% H3griaa Horem
2. 43" Constitutional Amendment / 43-3 &3gria Herrga
3. 44t Constitutional Amendment / 44-3 FeTfa Herra
4. 45 Constitutional Amendment / 45-3 &aTfae Fofram
Correct Answer :-

« 44t Constitutional Amendment / 44-F TR Tore

49) In the Indecent Representation of Women'’s Act, 1986, which of the
following would mean “advertisement”? / afgarsit F stgfier wiafAfac (Foe)
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srfefaas, 1986 & srqam s & & wiwar ey “fRsma=” & st
1. Notice / difew

2. Label /&=

3. Wrapper / @9ed

4. All of the above / 3T a+

Correct Answer :-

« All of the above / 3=k T+t

50) What does the VLOOKUP function do?/ VLOOKUP WaRIH T Hdl 22

1. Checks whether text is the same in one cell as in the next/ SIid ®3dl g f UTS T gl
Jadg oo srad g

2. Looks up text that contain ‘v// TRe B TWdl & f9H 'v' BT §
3. Finds related records/3afed RepTs gedl &
4. None of these/'s{‘lﬁ@faﬂgﬂﬁ

Correct Answer :-

« Finds related records/3sf¥d RS gadr g

51) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ féxr: fFafafaa g aré &1 wmgd® sreaa= 7 - ey mu vy
& I difvr

Percentage of expenses on various items during book production and sale/

TP & Iaared SR fast # fafire et v & &1 ufowe

Advertising cost/TrAT=r
wd, 18%

_“‘_-_‘_‘_-_‘_“'_‘—--
o Bindingcosy Tl
wd, 18%

Rervalty cost/ Nitrwm
e, 15%

Printing cost/TriEm wnd,
5%

NULCH |l aneout oY,
fafrr wd, 7%

Paper cost/ = A,

Th%

The ‘paper cost’ is approximately what per cent of ‘Printing cost’?/ BT T
Ffer @ o1 @y fpam ufosma 82
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1. 15%
2. 20%
3.35%

4. 27%

Correct Answer :-
e 20%

52) If white is called ‘blue’, ‘blue’ is called ‘red’, ‘red’ is called ‘yellow’,
‘vellow’ is called ‘green’, ‘green’ is called ‘black’, ‘black’ is called ‘violet’ and
‘violet’ is called ‘orange’ ,then what would be the colour of human blood?/

gfe b P ‘Har HglwIdl g, ‘Hidar &I are’ $gl Srdl g, “"drd’ &1 Ul ‘Hel SrdT 8
ST Y AR wer SITaT 8, 9 IS & Y9 BT I 1 g

1. Red/d

2. Green/8Xl

3. Yellow/dielm

4. VioIet/a"Fﬁ

Correct Answer :-

. Yellow/dldr

53) DIRECTIONS: Find the mirror image of the figure given below:/ fAdsr: &
Tt apfa &1 guur wfafae gra #3:

Question Figure: /g9al Jnepfa:

7%

Answer Figures: | 3ra? quiﬁ-\'ﬂ"l :
'\-1

:%1\._.‘ r{‘-‘ "r:_"Fl-'\.‘ =
d | ¢a| &5 &b

(1) (2) (3) @)
1.1
2.2
3.3

4.4

Correct Answer :-

e 2
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54) Pointing to Hemant, Seema says, “He is the paternal grandfather of my
eldest son Mahesh”. How is Hemant related to Seema?/%ﬁﬁ?ﬁ sh'\r'{summﬁ
U T Pl 3 P a8 IR 999 98 T U & Sre1 Sit 871 g4, JT | frd R aweita
82

1. Father/ﬁ?ﬂ

2. Uncle/ dmd1

3. Brother-in-law/ Gaz/SiTel

4. None of these/%?lﬁ@faﬁ's‘ﬂﬁ

Correct Answer :-

« None of these/stlﬁ@faﬁ's‘?e?f

55) In communication satellite, multiple repeaters are known as?/ JdR 3UJg

#, %% dted & U ST o1t 32
1. Detectors/ f&caed

2. Modulators/ ATgeeH

3. Stations/ €

4. Transponders/ CIUISY

Correct Answer :-

. Transponders/ TiaUieq

Topic:- Grad_Managerial Skill

1) Each community development project covered about 300 villages with an
area of 450-500 square miles and a population of 1/ WH’EEW faera
REISHT = U 300 1T Hav fhT 6T $a &5Fd 450-500 T Hia a1 Fa
ST A4t

1. 1.5 lakhs/1.5 dRg
2. 2.0 lakhs/2.0 dig
3. 2.5 lakhs/2.5 did

4. 3.0 lakhs/3.0 dIg

Correct Answer :-

« 2.0 lakhs/2.0 g
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2) represents an Unorganised Group:/ SIS / Sroaafeid
TYE ! F=fua oear &:

1. Out-groups/ G%ﬁ'ﬂ:s’ (313c-Yu)
2. Crowd/ HIg

3. Involuntary group/ s g
4. Voluntary group /%3ddd! Ig

Correct Answer :-

« Crowd/ Hfs

3) Mention what type of media exhibition,television are?/ 9a1¢ & ue=il,
Tehifaw fra yR & w1eH 82

1. Mass communication/ 99 IdR
2. Group communication/ I9g IdR
3. Individual communication/ dafdd® TR

4. Public communication/dTael-d IR

Correct Answer :-
« Mass communication/ 99 IdR

4) From among the following identity one which is three-tier system of the

local self - government?/ 398 ¥ UgdAH 6 WY Wxma4 9 Hasta o #1982
1. Gram panchayat — khand samiti - zilla praishad/ 919 Gamdd - We iHfd - fSrer afkeg

2. Gram panchayat - village school - village cooperative/ U9 U=TId - UTH faemey - am

RECARRIEIG
3. IRD programme — TRYSEM - NREP/ IRD ®RigH - TRYSEM — NREP

4. Lab to land - KVK - KGK/ JARTRITAl ¥ YfH T - KVK - KGK

Correct Answer :-

« Gram panchayat - khand samiti - zilla praishad/ I1H da/d - Ts Ifufd - forar akug

5) Both society and are the products of social interaction:/ JHTS MR

<X € I erafihaT @1 ST &
1. Customs/ Sifcaai
2. Traditions/ TRAERTY
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3. Culture/ a4 (Fe?)

4, Community/JHard

Correct Answer :-

« Culture/ Ga¢H (HeR)

eY

7

GET IT ON
Google Play

6) “Public life” is defined to?/ “\Tdwil~® Sia1" f&¥ a& ufRwfya g2
1. Gemeinschaft (Community)/ GHISIRIGE (THaMA)

2. Gesellschaft (Association)/ TNIGRITYE (I4/ITeaY)

3. Tonnies’ Classification/ ot affeeor

4. None of the above/3WIad § ¥ I3 g!

Correct Answer :-

. Gesellschaft (Association)/ TRIGRITUE (F9/ITeaY)

7) The art of communication is:/ JdR @I BT %—
1. Learning/ 31f&H ()

2. Listening/ g1
3. Feeling/ HeJd AT
4. None of the above/ B’CI{I[EH 73 o8 Tl

Correct Answer :-

« Listening/ g1

8) How is the development of poorers from all the sides is possible only by?/

et &1 w9k @ fapT Faa frad gRT wnE 82
1. Extension education/ fa¥dR TR

2. More money supply/ 3% ﬂ:lTCIfcf

3. Making strong ruler/ 31 Tlgd UMD S

4. Not known/3{JTd

Correct Answer :-

« Extension education/ fa%R e
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The plan of work arranged chronologically is called 1/ PIAHHATIIAR
FafRd H1d T Bt F5d o:

1. Calendar of work/ P Haie?

2. Programme projection/ HrfEH q\aﬁqﬁ
3. Calendar of activities/ TIfafafd FaieR

4. None of these/3TH ¥ &5 ol

Correct Answer :-

« Calendar of work/ ST Hae?

10) An understanding of the role of the local leader : /T A1/

Aqadal It YfireT It GHI &:

1. Is of least importance for local leaders/®IHIT AdT3f/Ad@®disl & [T o9 HH Hed
&t gt

2. It very essential for local leaders/ R4 Ad13fl/Aq@dmaisi & o Igd MaRg® gidl
3. Has no concern with the local leaders/ Wﬁﬁﬁ/ﬁméﬁ ¥ ®Is WIBR 8! I@d!
4. None of above/@ﬁﬁ?r ERC KRR

Correct Answer :-

. It very essential for local leaders/ R Aarsfl/Aqadmdis & T 9gd MaAH giail

11) What was “India’s food crisis and steps to meet it”?/ “3fSUre Bs 3R
Us ®W ¢ Hie ge” & 41/d?

1. A book on food situation in India/YRd # @re URRAUG R fordt Wi T ASEZ
2. Report of Ford Foundation Team/ Bl BI3STH ad P Uh Rard
3. Report related to Poverty in India/ HRd # fAeHar § gwafRd te Ruid

4. A formula to solve food problem in India/ YRd ®1 Wl YU 8 B BT Uh BEl

Correct Answer :-

» Report of Ford Foundation Team/ BIS BIESYH &d ®i Ud RUrc

12) Small groups include:/ @Y 9qel & Wi &

1.  ‘dyad’ and ‘triad’/‘Sif$qi’ iR ‘fowfeai’
2. Racial groups and political groups/ AT W@ﬂﬁ%w
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3. Other small groups/ 30 dY 9Hg

4. Political groups and ‘triad’/ IeHfa® 94z U4 ‘fasfsai’
Choose the correct answer:/ & 3T TA:

1.2 and 3/2 3R 3

2.1 and 2/1 3R 2

3.1and 3/1 3R 3

4.3and 4/ 3 3R 4

Correct Answer :-

« 1and 3/138R3

13) From where does the National Development Council gets its

administration support?/ ?T@'CI fapra ufvue & y=mafe I o 9 fiear %?
1. Parliament/ 93¢

2. Planning commission/ Hfa R

3. Finance commission/ fog smanT

4. Union cabinet/&=1g HAHSd

Correct Answer :-

« Planning commission/ Hifa sma

14) The intensive area programme (IAAP) was started during mid term
appraisal of : /99 Y &F AP (IAAP) & & Ty gedidd &
QR IR T T A

1. Second five-year plan/ U<l Gaayg Ao
2. Third five-year plan/ et Taaufd g
3. Fourth five-year plan/ T taaufg g
4. Fifth five-year plan/drad daayfa gemr

Correct Answer :-

« Third five-year plan/ TS} Ugasig gieT

15) Mass communication in India-the book was written by /HTH

PRIBIE 5 SISAT ATHS P A ferdt A
1. K.J.Kumar/ &. 3. $UR


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

2. Ram mohan/ J¥ AT
3. Patil/ grfed

4. Kuppusamy/ @CERITJ:?[

Correct Answer :-

. K.J.Kumar/ &. 9. PHR

16) What are extension workers?/faw R $4f F1 82
1. Lay leaders/ W&Hﬁﬂaﬁﬁ (@r )

2. Professional leaders/ URIaR ﬁ?jc_dﬁﬁ

3. Autocratic leaders/ FR&RI AdT

4. None of above/Gq?j?ﬁ =i ﬁ'st el

Correct Answer :-

. Professional leaders/ URaR Aqddd!

17) The “special interest groups” falls under:/ “faRiy v&qus" &
Sl 3T &

1. The primary group/ I ES g
2. The secondary group/ fadias 948
3. Voluntary group/ ¥ad3d! 948

4. Tertiary group/daids TUg

Correct Answer :-

« The secondary group/ fgdia® e

18) The approach to organizational change where decision are made by a
centralized power position, other being required to obey the decision:/

WISATHS Ui¥ad- &1 98 Ugfa s T $ipa 91 ug g1 fHofy o wimat € 8ik ey
o1 fAofa &1 ures &= gt

1. Authoritative approach/ &R Tgfd
2. Participatory approach/ eyl ugfa

3. Pro-active approach/ 3U9$d Ugid

4. Active approach/ Ifhd Ugfd

Correct Answer :-
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« Authoritative approach/ 3MU&HTR® Tgfd

19) On whose birthday community development programme was started in

india?/ YRd ¥ GYerd faeTa Srdwy &1 IR™ fFad swafe v foear wr ur?
1. Netaji subash Chandra Bose/ Adsil YUY o= &9

2. Pandit Jawaharlal Nehru/ Gf$d SaT83aTd Ag&
3. Mahatma Gandhi/ HelHT Treft

4. Sardar Patel/9%eR Ucd

Correct Answer :-
. Mahatma Gandhi/ HgTET Tt

20) Which creates sympathy in and fosters co-operation among members?/

T8 @ ®H, el # gy I Sar € 3R TRft JgulT &) 9erar T 82
1. Unity/ U dl
2. We-feeling/ &H &1 Tgd

3. Common feeling/ ITHI g™

4. Integrity/wﬁm

Correct Answer :-

» We-feeling/ gH &I Tgd

21) is a traditional mode of mass communication:/ , S TER Bt

yReRe farem &:

1. Tv/ &l

2. Newspaper/JHHRUA
3. Radio/ fgar

4. Internet/ $c3c

Correct Answer :-

« Newspaper/JHRUA

22) The hallmark of leadership is i/ ﬁﬂ?q' P P g
1. Achievement of goals of an organization/ I & aedl ®t Ut

2. Settlement of disputes in an organization/ ¥7é4 & fddral &1 Mue™
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3. Capacity to influence others to follow/ gﬂi' Gal STTARTT %ﬂ qYTFAd &= D1 &l

4. Maintaining the core values of organization an its distinctive identity/J7é Pl b
A3 D1 3! A=Y UM & ¥ H HIH &1

Correct Answer :-

« Capacity to influence others to follow/ gﬂi' Cal STTARTT %ﬂ qYTFAd &= DT &l

23) Government of India set up planning commission in 1/ HRA PR

A GISAT START P RITGAT # & @
1. 1947
2. 1950
3.1952

4. 1995

Correct Answer :-

« 1950

24) The process of influencing people towards achieving a common goal is

called :%wmamammﬁaﬁ%mﬁ@ﬁaﬁmmﬁaﬁm
Pgard!

1. Communication/ AR
2. Development/ fd& ™

3. Leader ship/ ﬁ"q’c_d
4. Sponsorship/ UTASH

Correct Answer :-

« Leader ship/ ﬁ?jc_d

25) Communication media facilitates :/ AR HIHAH B I
CERIGIE

1. Development of speech/ aTuft CACEIRS]
2. Skills/ BRI

3. Teaching and training/ 3919+ T4 UfRreor
4. All of the above/G’quﬁ gt

Correct Answer :-
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« Teaching and training/ 3{eaTg Td UfR&r0m

26) The unit taken for the purpose of identification of IRDP beneficiaries is:/

IRDP ATHTFfaY Ft ygara & 3t 9 ot Tt go1S @
1. Individual/ SfeRTTTd

2. Family/tlﬁTﬂ“\’

3. ViIIage/TﬁH

4, Community/JHard

Correct Answer :-

« Family/ URAR

27) Firka development scheme was started by madras government in

: /Tt fapT FIoFT IS MR GRT___ | AR™ 3 Tt 4
1.1942
2.1946
3. 1952

4. 1957

Correct Answer :-

« 1946

28) 4 I's of communication are:/ AR > 9dR 3|T§ %'-

1. Informal, instruction, influence and integration/ ShIHd, SCARM, STALY TS SETURM
(3FETRe, FER1, THTT Td ThiahRn)

2. Intermediation, information, interest and instruction/ SeXHISTRA, SHIHTH, S, TS
SR (AR, a1, B wd fdw)

3. Information, instruction, influence and integration/ SThIARM, SCaRM, SUAL TS

SERM (1, MG, 4T Td T 1)

4. Information, intention, influence and instruction/ SHIARH, )M, T, TS SR

(AT, TIRY, THTE Td g

Correct Answer :-

« Information, instruction, influence and integration/ g:qi‘lﬁ‘\fﬁ, SR, W TS
SERRA (AT, (1821, UHTd TS ThidRun)
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29) Which of the following adopters have more opinion leadership in the

society ?/ 399 9 f5g UTgt (TSTER) & U 90T # 3if¥e #a A giar 32
1. Innovators/ Fauddd

2. Early majority/3RfB® Sgqdix

3. Early adopters/ 3MR®& U8

4. Late majority/ UY SgHdIRI

Correct Answer :-

« Early adopters/ 3R TTal

30) The first model of communication was developed by ) TAR &
Ugd Aisd @ faora = T o

1. Aristotle/3R¥q

2. Berlo/ﬁ'ﬁf

3. Shannon and Weaver/EﬁTrr U diax
4. Lasswell/dgad

Correct Answer :-

« Aristotle/3R¥]

31) One of the basic element in the leadership relationship is i/ ﬁﬂ?q'
= & MYRYT e A | TP 8 :

1. Task/ &4

2. Faith/ faymg

3. Motivation/ TR
4. None of these/ s':lﬁ q aﬁé =r€’f

Correct Answer :-
« Faith/ fayma
32) Horizontal Mobility denotes:/ &fas nfa=fterar &1 o 8:

1. A movement of an individual/ people/ groups from one status to another/ foratt

I/ SAfeadl/ THg! &1 U REd (Kew) ¥ gul ofiad (ew) o o

2. A change in position without the change in status/ 8RTd (Red) § dgard & a1 ug
(Uren=H) H Sgard
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3. Social descendance or social failure/ TSI Ud- a1 JTHISG [awhad]

4. Social ascendance in the status of individuals groups/3afaadl/Tqg! &I REd &
TS I

Correct Answer :-

« A change in position without the change in status/ HGER (%Ec{-l) T ggad o foA1 Ug
(UISIRH) H dgand

33) From where is the journal of Rural Development published?/ arHivr fawryg
SR PT BT Hel A gal 82

1. MAMAGE
2. NAARM
3. NIRD

4. NCAP

Correct Answer :-

« NIRD

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafifEd s & aFyd® yeH: 39 Hid 33 T sgfasped! u=ai & 98t
fawea &1 a7 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

AR a1 RgAeIE (A 3 separ |, e ord 8 arsm sar), s #
U 91 9 Tdbell 3R Thafamr= & Fraul & ST & a1eay ¥ U Iod a1 GYE I g
Id 91 g a@ difed 3 Ugam & $d & $ed €| Tg Tifodd RN & aTgd BT BT Ham
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TR & 316 Ued § Wlid, e, ThisH, url, Sdied, uraewdat, ufagfy v < izg
Aisd &1 fapTg & ardl # IR RIsiaer Fars W94, faear a1 Th1H T TS i1 aur
3= IS 1 YUTA JAR TP gAYVl Siia-T B § o g8 §HR -G Hisg @ &t
AT & A JHIA TE 370 Fo & Jud a41a1 8 IER # HeT (THIEM) iR famrs
(SHIFET) Frwrd Wfa 81 Fred P € 99 Td aaH, 947 fapisd s o1 o0 aw
T4 44Ul ¥ g1 IR TP a1 ufspar g foraw foamy &1 sme-veH far sirar §; afe 39
THARWT HX U1 91, @Y SMeMH-UeH ¥ ST ¢ forad garen a7 gl 8 Ifasra J=r, ar
g ¥ Sy (STaudic RI-HRr) fdta fAygs & 9 & auf & o9 99R g &
TP &9 & U A IUR UTI 39 JHY T[T, piel, 3R afemlt smfver & 31 s @z,
SreAfraT vd efReEr ¥ IftepR W Wik 3 7@ 3

Communicare means to:/ TSR &1 Y §:
1. Speak/ e
2. Share/ |Il HAT

3. Produce/ IdIfed &
4. Profit/ GATHI

Correct Answer :-

« Share/ Tl dRAT

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafifEd s & eaFyd® UeH: 39 4 &3 T sgfawed! u=ai & 98t
fawea &1 a7 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

AR a1 RgfHIE (A 3 separ |, e ord g arsm swar), s #
U AT 918 Hbdl MR Jbafag & ot & ST & a1eay A U6 9 a1 9YE I g
I a1 g a@ difed 3 Uga™ & $d $! $ed 8| Tg qifodd WM & aTgd BT BT Ham
BHIR & 313 UeH § Wi, W, TdIed, Arf, e, uraeat, ufogfy wd g isw
ATsd &1 faeTg o3 aral # HaOR RigiaeR wis 94, faear & wh1H ud Aad BT qur
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3= e A1 gUT WER TP AEQYUl Sita- SR @ &l g8 g9 -6 Hig @ &t
AT & A IHIH TE 374 Fo & Jud 4191 B IER # HieT (TTHEM) iR famis
(SHIfET) Frzrd e 81 Fred P € 99 T aRaH, 947 fadisd sia o1 oY aa
TS 4auT ¥ 81 IR TP ravT ufspar g R foary &1 seq-ueH forar wirar §; afe 5@
THARBT B U1 91T, oY 3MerH-UeH ¥ ST ¢ forad garen 3«7 gl 8 Ifaery I=r, ar
"y & Sgoia (STauiic FRIAGI) fEda fAygs & 9 F ool & o9 TOR e &
TP 87 & U A IURT Y11 39 99 TRAT, b, 3R <feof sifve & 31 eryq wadsr,
STeAfTHRET T efRuedr & iR W Sk ¢ W) I

SOURCE — MESSAGE — ENCODING — CHANNEL — DECODING — RECEIVER —

FEEDBACK — CONTEXT. This model was developed by:/Jd — Hel — HIe

(THIET) — AR (A99) - fadrsT (S fEm) - wrasdal - ufeg® — | g8 uisa
A faefa forar

1. Wilbur Lang Schramm/ ERERESUREaE

2. Robert Craig/ ac &1
3. Claude Shannon/ FA3S T
4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad it

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wFyde yee: 3u@ AR 3 T sgfawadt uxei & w8t
faw ey &1 799 B3

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR T1fy FRAHIE (dAfe W sRgHeaR A, e ord g arem w=Ar), smug o
U 9 aTdd Wbdl 3R Aharagw & faal & SuahT & A1ead A T 9od a1 J9E 4 gan
I a1 g aF difed o UgaH & $ $I $ed 8| Ig Tifod WM & aTgd BT BId Hdl
T IUAR & 3113 Ued § Wd, e, TIhIsH, ’ni, Sidied, urawdl, ufayfy vd < iza
Aisd 31 AT 34 9l § JaR Rigiaer e W94, faewr a1 Sp1d ud 9 1 aur
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3= e A1 gHTE WER TP AEQYUl Sita- PR 8 &l g8 g9 -6 Higg @ &t
AT & A IHIH TE 374 Fo & Jud 4191 B IER # HieT (TTHEM) iR famis
(SHIfET) Frzrd e 81 Fred P € 99 T aRaH, 947 fadisd sia o1 oY aa
TS 4auT ¥ 81 IR TP ravT ufspar g R foary &1 seq-ueH forar wirar §; afe 5@
THARBT B U1 91T, oY 3MerH-UeH ¥ ST ¢ forad garen 3«7 gl 8 Ifaery I=r, ar
"y § Sabia (STauiic FRIAGI) fEdia fAygs & 9 F ool o9 TOR e &
TP 87 & U H IURT U111 39 99 T[T, 3rbter, iR <feofl sifve & 31 eryq wadsr,
AR ve TefrRueET & ifier W &R 3 37 A1

Development Communication emerged as a field of:/ oo/ SR & &
& &9 H IUM:

1. Two-way communication/ SIORWI §AR

2. Intra-personal communication/ 3Iddfaad TaR

3. Mass communication/ S IR

4. All of the above/ Iudad I+

Correct Answer :-

« Mass communication/ 59 IdR

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz &1 wFyde yes: 39® - @4 T sgfawed u=-i & w&t
fawey &1 799 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-worid
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR a1y RgfAeeE (Afe 3 sHear |, e ok 8 arsm sar), s #
T 9 aTdl Hbdl MR Aharaw & faal & SughT & ATead I T 9 a1 IUE 9 gan
I g1 GYE aF difed 3 ugarq & $d &) Fed 3| Tg qifod JSRN P aTgd BT BTA Hdl
T IUAR & 3113 Ued § Wd, "R, TidisH, Ant, Sidpred, uraeal, ufayfy vd g<visw
Aisd &1 fapTg o3 ardl § IR Rigiaer Fars 94, fawwr a7 Th1H ud 9 i1 au
3= e A1 gUTS WER TP AEQYUl Sita- PR 8 &l g8 9K -6 Hig @ &t
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IR &1 A GUSH TG 399 G # 90 §97a1 B IR # Hred (THIfEM) iR fawie
(SRfET) Fizra WA &1 Fred P & A= T AGH, U1 fadisd s &1 3 a@
Td 44Ul ¥ g1 IR TP a1 ufspar g foraw foamy &1 sme=-ueH far sirar §; afe 39
THATHT B AT 91T, ) M-S T Srdl § FTHd garm 34 gid! 8 Ifdery IR, a1
Ty ¥ Jaor (Saaudc Fgfeer) fida faygs & 9 & auf § 99 9UR srsmuq &
TP &F & &0 A IUI UTI 3T 9 TRMAT, 3rpia, iR efémoft smfyer & 3wr sraa wad=,
SrAfTHRET Td qefRuear & PR IR @R ¢ 3@ U

communication prevents from exchange of ideas./ IR, foramry
BT ATGTH-USH b T &:

1. Mass communication/ 99 IdR
2. One-way communication/ T dthl IR
3. Non-verbal communication/ 3MMfegd IR

4. Verbal communication/¥Mfsg® AR

Correct Answer :-

« One-way communication/ T bl YR

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3u@ AR 3 M sgfaw«dt ux=i o W&t
fawea &1 9 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR T1f FRAHIE (dfe W sRgear A, e ord g arem #=Ar), smug o
U AT a1 Hbdl MR Jbafagrd & Frawl & ST & I1eay d Uh 9 a1 9YE I g
I a1 g aF difeod o UgaH & $d DI Had 8| Ig qifod N & aTgd BT B Hal
T IUAR & 3113 Ued § Wd, e, TIhIsH, "ni, Sidred, uraddal, ufayfy vd < iza
Aisd &1 fIaTd F3A aral § TR NsiaeR Fals 4, IR o1 %p ud e &1 au
3= IS A1 YUTA TR TH WEAYU! Siia-T HIR @ o g8 gHIR -G Higg @ &f
IR &1 A GUSH TF 399 G # 90 §97a1 B IR # Hred (THIfEM) iR fawre
(SRfET) Fizra WA &1 Fred P & are U9 AGH, U1 fapisd e &1 30 a@-
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Td 4auT ¥ 81 IR TP ravT ufspar g A foary &1 seq-ueH forar wirar §; afe 5@
THaR BT X a1 &Y, Y SMerH-Uer ¥ Srdl @ Rrad garan I+ gidt 2 Iy 99, a1
Hau # e (STauiic FRIAGI) f§dia fAygs & 9 F ool & o9 TOR sremaA &
TP &9 & U A IUI UTI 3T G99 UM, rpia, iR efamft safyer & 3w sraa wad=,
SreAfrRar Td efRuedr & iR W Wik § W) A

Encoding skills involves:/ CAEE | (Eﬂﬂ'ﬁﬁ‘m) Pzl A Q]Tﬁlﬁ%
1. Listening/ 4dul

2. Reading/ UeHl

3.  Writing/ @G+

4. Speaking/ 9T

Choose the correct answer/dg! 3R iﬁr

1.1and 4/1 3R 4

2.2 and 3/2 3R 3

3.3 and 4/3 3R 4

4.1and 2/1 3R 2

Correct Answer :-

. 3and4/3SﬁT4

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yeo: 3u@ R f3d T agfawadt uxei o W&t
faw ey 1999 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-worid
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR a1 sRgfeIE (Afe 3 sHear |, e ord 8 arsm svar), s #
T 9 aTdl Hbdl MR Aharawd & faal & SughT & ATead I T 9@ a1 UG I g
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Icd 9T g a@ difesd 3 Ugam & $d & $ed 8| Tg qifod RN & aTgd BT BT Ham
TINAR & 311G Ued § Wd, "R, TIdIsH, Ant, idpied, uraeal, ufayfy vd g<visw
Aisd &1 fapTg &3 ardl § IR Rgiaer Fars 94, faewr a7 Th1H ud T i1 au
3= TS A1 YU WER TP AEQYUl Sita- SR @ &l g8 9K -6 Hig @ &t
VTR & A HIA TE 398 Jo & 0 g91a1 8 199R & HrsT (THHIEM) 3R fawmrsa
(SHIfET) Frzrd wfra 81 Fred P € 99 Td aRaH, 947 fadisd sia o1 o aw
TG 4qur § 31 HUR TP ST ufshar 8 orad faar) &1 sier-verq foar wirar §; afe 3@
THAR BT B U1 91T, oY 3MerH-UeH $& ST ¢ forad garen 3«7 gl 8 Ifaery I=r, ar
"y # Saoia (STauiic FRIAGI) fEdia fAygs & 9 ool § o9 TOR e &
TP 87 & U A IURT Y11 39 99 TR, rbter, 3R <feof sifve & 31 eryq wadsr,
AR T efRuedar & iR W ok § | I

It acts as a carrier of intended messages: /4% gifesd '\‘Iﬂ"«’ﬁ & dIgd bl ST BT
e

1. Transmission,/IJHIY0T

2. Channel/HT&IH

3. Sender/Uv&%

4. Feedback/®iea® (TAHATM)

Correct Answer :-

« Channel/HT&IH

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faferfad e &1 wryde yeos 3u@ ) f3d T sgfawaft yzei o W&t
fameu 1999 S

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
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governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t B ATaiiys gfeuTaT 981 8, TP "ICT ¥ e sraurony, faftri ok s
T AT B Fad fbTd a= 38 &1 "yl & g, Jut 3 Ts ICT eI Wer- far
A T TP T F AN TRI A "TH TR FT AT T, SR g W AT fr aafl gun &
RIFRY 3R fAfid gR & Faeei=e TR ard aRI & JIH a1 arell
wrenfifeal @ TR dimad 2012 #, Jga SEmad T SRR i 5 fafewr faamaay &
ICT $T SUUNT 9 $ fear ST A1fey, "wiifer IU7 95§ IR APRIASD 1Y i &=
o g, ok af 2014 ¥ Wty wroTTaf A e e BT WANT T F for B S
Tregadl #§ HrgeR WA & St o & ufafaftad svar 31 21 iR, 2001 &) Gy«
Y HETHYT A YPHed 56/ 183 B rgAITed fpar fora# ol & a1 AT & ATHA HIS[G
AR} SR g W =l v & e fay gaar gure RreR Iwied (9 e i g
SPTHIM JHTadl, (WSIS)) mafora @ &1 gudq foear war ot ICT &t fay & uds
T TG U a9 Ba IR oM & g, "af 2015 37 Hg& Y Aevarsd! o
d&al (MDG) @1 urftd &) gaa-ftar 3 o W af 2000 # 3fy® Aqawal gud e A
" Td AR MRt Rien a@ ardyifire uga, Rren & guan, quiear-gad it
TG ATI Pt UGTA, EATIR] & URIaR IRy au1 ifus gar fRiem yawe, e ud
R ® ARTETH € gavd! 81 gAwn! e & ICT 31 gerar 37 & fow v IwEmard! v

TS TRHOT Srq=TaT B
ICT has no definition:/ ICT Eﬁﬁ% TTF\"J-ITEITHﬁ%
1. Unique/ sfgdia

2. Universal/ﬂ'lﬁ'f%
3. Definite/ ff8a
4. None of these/ '5’:|'ff q ?ﬁé :|E°[

Correct Answer :-

. Universal/‘v'l'laf%

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEd Tz &1 wFyde go 39@ i @4 T sgfawed u=-i & w&t
fawe &1 799 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
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opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT @ ®I3 |ratfee afkurar =81 8, Fife "1cT o wfirer srauromy, faftmt stz srguanT
U AT § Fad faer a2 38 81 "yaT & fig, Jut 3 U ICT ugrgwd e fhar
o7 foraw uergewH & Tt TR § " TR T A O, SR s v y fr a i gur &
RIMFTRU 3R fafiT UpR & saaeii-e AT ard TR & a9 a9 areit
weafhifeat @ Twfe d1mad 2012 #, g Fmad A sz ot @ fafewr faemeat o
ICT $T SUUNT 9= HX a1 |1 A1fey, "Hiifer I 98§ TN APRIAD Y i #
forg 3, v adf 2014 ¥ I UreTTEl A FEYfET g BT WA AR™ R fgaT 7 &
gt # HrgeR R & wie 9 & ufafafyd $ar 21 21 feawr, 2001 o Iga
Y WEMEUT 3 Hhed 56/183 B Srgalfed fpar R 31T & T T S A Hivg
AR SR Aol R == Fv1 & foe fay = Jue Rer g@eq (3@ afe v g
P IHRM HI9Tadl, (WSIS)) maiferd #3 &1 IwYH far mar 411 1cT &) fay & v
T ARG YT & o R fedm & fig, "ad 2015 37 Ay WY Wl fdora
d&di (MDG) &t Uity #t Jug-diaT § o9 wR ¥ 2000 & afy® Agasdl 9gad g¢ A1
" Td HaR MRt Riem a@ ardyifie ugw, Ren § guran, quiear-gad it
TG ATYT B Ueraihl, SreaTusd! & URaR faer aur sife ger Rugm ya=u=, g+ vd
U # GEM S gt 81 T g # ICT $I dgrar 37 & e v gwudrard e

ATIP TRHUN SUTaT

On 2001, the United Nations General Assembly approved Resolution
56/183 endorsing the holding of the World Summit on the Information
Society (WSIS):/ 2001 DY, TG AP TFTAUT A FH U 56/183 B JHITed fomar
Wﬁ%wwﬁl@?wﬂm(wm) P BT g fomar T T

1. 7 June/7 91

2. 21 December/21 fedsR
3. 25 December/25 fegsR
4. None of these/ E:FEI q aﬂ's‘ "-l'E?f

Correct Answer :-

« 21 December/21 fedsR

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 9@ AR o T sgfaw«dt uzei o W&t
fawey &1 799 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
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some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGSs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t #i3 qratfee ufvurar 98 8, Ffe "1cT & =nfira sraurony, faftrt s srguat
YT ST &1 Fad fIsr & @ §1 "yl & fig, Jut 5 T ICT Uerswd UerH foar
T o uergerH & It wRl # "Ue WR BT "I AT, 3R 98 09 of fh 3 gt e &
RIFTRT 3R AT UpR & sAaei-e AHERAT ard TAR] B T g9 aret
wrenfifea @ g dirad 2012 #, Jga FETE T =T B o fafewr faamaay #
ICT &1 IUGHT 9= H fear o1 a1y, "wifer 3U1 9gd 9R TRt d snapfia #=
forg ", ok af 2014 F W yreTTaf 3 FrYfET W BT TR IRV IR T B
reg=at ¥ HrgeR URNRT & wie 91 &) ufafafd $ar 81 21 feawr, 2001 o Iga
Y HETHHT A HPHed 56/183 Fi sHITed fpaT1 Fod ol & AT TS & ATHA HIN[G
AR} SR gl W =t e & o fay gamr ure Rrer wied (9@ I e[ g
B IHRM HI9Tadl, (WSIS)) maiferd #3 &1 Iudd far mar 411 IcT &) fay & v
T ARG YT & Ba iR e & fg, "ad 2015 37 wy Y Tewdrsd! faora
@edl (MDG) &t Tty ) wwa-3faT 8 9 R o 2000 & 3@ Aqasal ggaa gu A1
"gEET Td "R Ut Rien a@ ardifie uga, Ren § guan, quear-gad it
T S(EATUA DI UGIRAT, AATUH| & URaR fadra aut Afiew gar fRem ya=m, I+
T § ARG € Fobel 81 AEp! e § ICT @ 9erar 33 & e te gHudamard! wa
TP YHI U-TaT B

provided an ICT hierarchy:/ AICT YardshH Uar+d foar
1. Schemmer/ IR
2. Leagens/ SIEES]
3. Maciver/ A&TgaR
4. Zuppo/gal

Correct Answer :-

- Zuppo/Jal
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10) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafifEd e & aFyd® yeH: 39 4 33 T sgfawed! u=ai & 98t
fawea &1 a7 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis.”" For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t ®ig qratfis ufvurar 98 8, FAfe "1cT & =nfira sraurony, faftrt s srgwat
T AT 8 Fad faerT a2 ¥ &1 "yaT & fig, Ut 7 T ICT Uerwd e fhar
o1 forad wgrgepd & It wRl # "Ue TR &1 9IS AT, 3R 98 09 T fr 3wt e &
RIMFTRT 3R AT UpR & sAaei-P AHRAT ard TAR] B I g4 aret
wefifea & TR dirad 2012 #, Jga SETad A R @ 6 fafewr faamaay &
ICT &1 IUGNT 95 H fear 1 A1y, "wife 3U1 9gd R ToRTE® d snapffa #=
forg ", ok af 2014 9 W yreTTal A FrYET AT BT TR IRV IR T B
gt § HrgeR URRT & wts 91 &) ufafafd $var 21 21 feawr, 2001 o Ig
Y HETHT A HPhed 56/183 Fi srgHIfed fpar fod oet & a1 I9Te & 1A Hivg
AR} SR gl W =t v & e fay gaar gure Rrer wied (9@ I e[ g
SWIARME TTaEl, (WSIS)) Smaiford oA &1 9udA fwar mam o411 ICT &t Iy & e
T ARG YT 9 o R fepm & frg, "ad 2015 7wy WY Wewdrsd! faora
d&dl (MDG) ot Uity 3t wwg-ar 8 79 R ¥ 2000 & afy® Agasdl edd g¢ A1
g1 U9 TaR Wenfrat Rien 9o ardifre uga, Rien & gur«r, queaar-gad siftem
TG S(EATUA DI YGIRAT, AATUH| & URaR fadra aur fiew gar fRigm ya=m, I @
TR § ORTeT ¢ Tahdt 81 gavap! g ® ICT &1 9erar 37 & e ue gwiraTard) wd
TP VB U-TaT B

To help anchor and expand ICT to every habitable part of the world, "

is the deadline for achievements of the UN Millennium Development Goals

(MDGs), which global leaders agreed upon in the year 2000.":/ ICT P Ay &

TP TG TG U a Ba iR fer™ & fog, "ad I HYHI Y TgTATed!

?wmm!ﬁ (MDG) ¥t Wiftey Ft Fug-FiwT 8 9 W ad 2000 ¥ YT Aqawal Tedd g€
"
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1. 2011

2.2013
3.2015

4, 2017

Correct Answer :-

« 2015

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s # aFyd® TeH: 39 4 3 T sglawed! uxal & 98t
fawea &1 a7 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGSs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t ®i3 qratfee ufyurar 98 8, Ffe "1cT & =nfira sraurony, faftrt s srguat
YT ST &1 Fad fIsr & @ §1 "ydT & fig, Jut 5 T ICT Uerswd UerH foar
T o uergerH & It TRl # "Ue R &1 9IS AT, 3R a8 09 ot fh 3 gt e &
RIMFTRT 3R AT gpR & sAaei-e AERIAT ard TAR) S I 991 aret
wenfifea & TR dirad 2012 #, Jaa SETEd A =i i f fafewr faamaay #
ICT HT SUUNT = HX a1 AT A1, "Hiifeh IT 98§ AN APRIAD (Y rwid H
forg ", ok af 2014 Wt reTTaf 3 FrYfET W BT WRT IRV IR T B A
gt # HrgeR URRT & wie 9 & ufafafyd svar 21 21 feawr, 2001 o Iga
Y HETHHT A HPhed 56/183 Bi rHIfed fpar fod oet & a1 I9T9 & A6 Hivg
AR} SR gl W =t e & e fay gamr gure Rrer wied (9@ I e[ g
P IHRM HI9Tadl, (WSIS)) maiferd s34 &1 IudA far mar 411 1cT &) fay & v
3T ARG T a& Har R feem & g, "ad 2015 37 Wy« Uy G o
@edl (MDG) &t Tty & wwa-3fur 8 9 R o 2000 # af¥w Aqawal ggaa gu A1
" Td O Wt Rien a@ ardifie uga, Ren § guan, quer-gad it
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TG 3T B USTAN, eaTush! & URaR bt aur 3ifire cef fRuem yg=H, W4 vg
WA ® ARTETH € gavd! 81 gAwn! e & ICT $1 gerar 37 & fow v gw3Emard) v
TP TSI =TT 2l

takes a holistic and comprehensive approach to promoting ICT in

education:/ f2rem # 1CT &1 9¢raT ¢4 & oI v GHIAIard! vd sy eyl
3T &:

1. United Nations/ ¥gad g
2. UNESCO/ g%t

3. UNICEF/ g%
4. None of these/ E:FEI | aﬂ‘aﬁ T8l

Correct Answer :-

« UNESCO/ !

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR fd T sgfawwdt uzei o w8t
fawey &1 799 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t B Iratis ufeurar 981 8, FAfe "IcT ¥ e sraurony, faftri o srgwat
T I & Fad e % 38 81 "edl & fg, gui 3t ICT ueriwH we fwan
o1 foraw uergeH & ft TRl H "Ue TR BT AT AT, 3R 98 09 o1 fr 3 9 gur &
RIMFTRU 3R fafiT PR & sAacii-e AeawIdT 9rd TaR) & JIH 9914 aret
wrenfifeal @ TR dimad 2012 #, Jga SEmad T SR i 6 fafewr faamaay &
ICT &1 UGN 9= H fea1 91 A1y, "« 3u- 9gd R ToRTE® 4d snapfa &=
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forg ", ok af 2014 W yreTTaf A FrYfET W BT YR IRV IR T B
regTat ¥ Hrger R & S W & ufafafya owar 81 21 feawr, 2001 @ Iy
Y HETHT A HPhed 56/183 Fi srHIfed fpar e oet & a1 I9Te & 16 Hiv[g
AR} SR gl W =t e & e fay gaar ure Rrer wied (9@ I e[ g
B IHRM HI9Tadl, (WSIS)) maiferd #3 &1 IuYd far war 411 1cT &) fay & v
TI ARG YT 9 o R e & fig, "ad 2015 7wy WY Wewdrsd! fdora
@eal (MDG) &t wifty &) waa-3far 8 9 R o 2000 # af¥e Aqawal ggaa gu A1
"ET T AR Wit fRign a@ ardyifire uge, e & guen, quiesr-gad it
T S(EATUA DI UGN, AATUH| & URaR fadra aut Afiew gar fRigm ya=m, I+ @
U § ARG ¢ Fobel 81 A&p! e § ICT @) gerar 33 & e v gHudamard! wa
TP YHI U-TaT B

From _____ the National Curriculum uses the word computing:/ CL ﬁ,

1. 2010
2.2012
3.2014

4, 2016

Correct Answer :-
« 2014

Topic:- Grad_Child Care and Education

1) The tendency to use one hand in preference to the other is known as:/ Y

H & foreft uep 314 & SUAT &t wrafirerar ¢4 & ugf &1 ... Fe1 ST 8l
1. Dominant hand/ 9TH g1Y
2. Auxiliary hand/ dg1de BIY

3. Handedness/ gd-Utdr=AadI

4, Egocentrism/ g isdmaladbisdhdl (STNICSH)

Correct Answer :-

o Handedness/ g¥d-UTUTIdT

2) Anganwadi workers, Anganwadi helpers, Supervisors, Child Development
Project officer and District Program Officers are the working force of which
among the following organization/Scheme?/ Gmm GI'ITHE'I@',T
TP, THderd, aTd FIsTr uiaieT STl vd Rien erdmd i, sﬂﬁﬁm
HTS/AST BT riad g 82

1. WHO/ Sseguasil
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2. ICDS/ 3msdisy
3. NIPPCD/ T3S UIdiS!
4. CARE / %R (HIU3MRS)

Correct Answer :-

. ICDS/ 3gHtsiny

3) Scheme of National Scholarship for Persons with disabilities functions

under:/ mmmm%mmm%l

1. Ministry of Social Justice and Empowerment/ IHIIS& <arg Td SHfIHTRAT HAed
2. Ministry of Rural Development/ ATHIUl fd® T TG

3. Department of Education/ fRi&m faymT

4. Department of Disability Affairs/ fqaaire & favm

Correct Answer :-

« Ministry of Social Justice and Empowerment/ ITHI® <01 T SRR HATGT

4) Which among the following influences learning?/ Eﬁﬁaﬁﬂeﬁnmﬁmrrﬁa
BT 87

1. Feedback/ Ufagf® (®ies®)

2. Meaningfulness/ G{%fq:UfEIT

3. Whole and part learning/ Squl Td 31if1e SifFmH
4. All of the above/ ITdad waft

Correct Answer :-

« All of the above/ Sudad Waft

5) Which among the following is an important androgen that plays an
important role in male pubertal development?/ I39 aa:-9¢ fapra d g0 &

DI-1 TSI TP Tgeaqut YT fHumar 82
1. Estrogen/ T&IH

2. Progestron/ ch@g“m

3. Testosterone/ TR

4. All of these/ IWRIa i

Correct Answer :-
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« Testosterone/ WA

6) Which among the following is not the objective of pre-school education?/

=79 @ 1, gd-faemertt fran o1 Iezg T8 &2

1. To develop in the child a good physique, adequate muscular coordination and basic

motor skills/ I 7 33T ARNRG-T34, AF-0Rma} § gafe daraid siR STURYd TTdd HILd
famrd =T

2. To develop rote memory in children/ﬁﬁiglﬂlqwﬁﬁﬁwm

3. To develop emotional maturity by guiding the child to express, understand, accept
and control his feelings and emotions/ S &1 30 TEYN 3R HTGATE ad B, THA,
WHRA SR FAFd S § AFfeRM PR HIaTeTd IRUSdT f[ae R S

4. To develop aesthetic appreciation in children/ I § Gied TRIe1 &1 fasTg B3

Correct Answer :-

« To develop rote memory in children/ &= & YSTAR Wid BT fdHTH HIAT

7) National Institute for the Visually Handicapped is situated at: /TI'@TI

RaRfEIRE_ dfREeI
1. New Delhi/ T2t faeaht

2. Kolkata/ Il

3. Hyderabad/ gex1eTq

4. Dehradun/ 36?@3

Correct Answer :-

« Dehradun/ 36?@3

8) The visual acuity of a legal blind person is not more than:/ faft® U ¥ %
afea 1 =R Frevmar ... I arfte 78 gl 81

1. 20/200
2.20/150
3.20/100
4, 20/70

Correct Answer :-

« 20/200
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9) Which among the following are involved in learning to speak?/ CINEKIECE]
H g0 | B A1 WA gar 82

1. Pronunciation/ 3=RUI

2. Vocabulary building/ Xlsgraett fAHfor
3. Sentence formation/ @@ fAafor

4. All of the above/ wjaamﬁ

Correct Answer :-

« All of the above/maﬁﬂﬂ-ﬁ

10) RTE Act stands for:/ 3RCI§ &1 IR &:
1. Right To Education/ I8¢ T TSR (FR1&f &1 3UPR)
2. Reservation To Education/ ReTd=M ¢ TR (e & amRemn)

3. Right To Entertainment/ (3¢ ¢ Uexc-He (RS &1 HUPR)

4. Responsibilities Towards Education/ JTIITSIIC IS garey Yo’ (F1& & ufa
ERRCIRE)

Correct Answer :-

« Right To Education/ 3¢ ¢ TH <M (FR1& &1 $fUaR)

11) Which scheme provides for accessible and barrier free built-in
infrastructure and transport facilities, supply of books, uniforms and
stationery, specialized learning aids and scholarships for students with

disabilities:/ B-H} TioT srararsii  Wifsa faenfin & g vd sren-gaa safifta
gf~ard} et vd ufvag gfaurs, wxae!, Turds vd ae—-ar, fafky srftrmy weras
IUBUN /AT Td Brgial &7 urae= $vd! 82

1. Scheme of National Scholarship for Persons with Disabilities/ feaite gTg Bm=ghi
IS

2. Comprehensive Education Scheme for Disabled Children/ faaiT sTaed! 8 U fRian
BISE]]

3. Inclusive Education for the Disabled at Secondary Stage/ fgdia® fa=ir ¥ faaivem
B4 JHTa=N e

4. Rajiv Gandhi Fellowship Scheme/ Ti1d TiTel reAdmgiy (Barrem) domr

Correct Answer :-

. Comprehensive Education Scheme for Disabled Children/ f&aaiT dTeienl B oATU fRI&
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12) Which among the following emphasizes the significance of Nursery

%chool education in India?/ 98 9 ®IH, 4R & R faemedt fem & Aga w® ga &1

1. The rate of development is so rapid in pre-school years that child can be given

more and more experiences/ mqﬁ (Eﬁ-i?g'_d) auf & fqH™ BT &R 31 ool Bicht § [
= DI USRS 3rgHa feu o ghd &

2. There is tremendous wastage and stagnation in India in a Class I and II which can
be prevented through Nursery school education/ HRd § & 1 3R 2 7 3rafies 3fgey
T4 TR § Foryent Jepurd Tt faamerdt fR1enm & wrend @ & o Iavct 3

3. The provision of Nursery school education is a social and economic necessity as
many mothers go out for work and there is no one to take care of small children at

home./ T} faerTerdt e &1 Urae T QoI Td oifies sawadar g #ife agd It A
HTH TR IER 91T & 3R R A BIC T B GTHTA & oL H13 81 glal g |

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iujad Tt

13) Hearing impairment can be identified with the help of:/ %dur &ivrdar &t
UgdT ... B JgTadT § B ol bl gl

1. Snellen chart/ Ao e

2. Pure tone audiometry/ Y[ ¥} S IR

3. Hoover Cane/ §aR §d (&)

4. Orthotic device/ 3{fUfee (ST PI TR & aTel) T
Correct Answer :-

« Pure tone audiometry/ & TR YAl

14) Which among the following learning involves substitution and

association of one response for another?/ 38 3 {9 3iftRTH ¥ T& Srferar & R
W gt BT UFaRATI T AaT fpar oIrat 82

1. Trial and Error/ Wﬁﬁ

2. Cognitive learning/ SMTE® S (Hiffea af-m)

3. Classical conditioning/ [ERCIGIES PIGCING] (omli\%ldom ﬁmﬁ'ﬂ)
4. Operant conditioning/ fohaTUd U (3MTURC dHaI=f)

Correct Answer :-

« Classical conditioning/ RRUTART UE e (i d dal=if—)
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15) The fertilized ovum is called a:/ fAAfIa 3rve HIfAPT 1 ... FEd &l
1. Zygote/ JHAY

2. Embryo/ YUr
3. Foetus/ m—@ﬂﬁrﬂ

4. Child/ 9=l

Correct Answer :-

« Zygote/ JHAY

16) ICDS scheme was launched on:/ 3TSIISITH IS ... B AR B WL At
1. 2nd October, 1975/2 3Ha&R, 1975

2. 14th November, 1975/14 9d&R 1975

3. 2nd October, 1983/2 3R, 1983

4. 14th November, 1980/14 FdsR 1980

Correct Answer :-

« 2nd October, 1975/2 HaaR, 1975

17) According to which law of developmental direction, development
proceeds from near to far- outward from the central axis of the body

towards the extremities?/ fa@TaTd® foxn & fow Ay & gaR, oo it A §7-
TTER Bt 3R, IR F Fa aref A g19-97 A ok e 32

1. Cephalocaudal law/ ¥Y-q=® (Ahdisieq) Fad
2. Proximodistal law/ FHG-gRITYE (Wifeqaifeted) fFraa
3. Patterned law/ UfaHTd (Geve) fAom

4. Far- outward Law/ QR-9gqd! (BR-3M3cars) fad
Correct Answer :-

« Proximodistal law/ THU-gRINTE (WiferaisEed) Faq

18) Emotions at early childhood years are specially:/ RS ITegdTel auf o
TS faRiy U J ... gl &)

1. Intense/ did

2. Balanced/ E-_\jﬁﬁ
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3. Subdued/ H<
4. None of these/ 378 ¥ &g =gl

Correct Answer :-

. Intense/ dig

19) Pure tone audiometry is used for identifying children with:/ ... @ Wif$a s=i
Dt UgAH & FoT Y W@ yAariifa (@i S iifsatadt) &1 Suai fovar sirar g1

1. Hearing impairment/4dul effuran/srqur arfer
2. Speech impairment/ 1% &UTdl/dTEG ST
3. Learning disabilities/ 3T et rRiaddrsii
4. Visual impairment/ 2P efforar

Correct Answer :-

« Hearing impairment/4dul &Urd/qur ST

20) Ecological theory was propounded by:/ Urf¥fRufas fagia &1 ufaure ... gRT
o T AT

1. Vygotsky/ @I’Fﬁﬁﬁfﬁ

2. Piaget/ fUge

3. Maslow/ Bl

4. Bronfenbrenner/ SibhASR

Correct Answer :-

« Bronfenbrenner/ SHhTITR

21) Which among the following term implies the problems of the impaired or
disabled person when interacting with and adapting to their environment?/

T A BI-91 T3 30 URA S 1Y =<Ifha1 $Q Td TP ard THY Sorar-wa a1
3R1ad AfRTal B 89 arelt Irwnsil @1 3R Tdbd Hal 82

1. Handicap/ fa®dimar
2. Disability/ HRIeddl

3. Prosthetics/ AT
4. Orthotics/ STUITCHT (3T BT TERT ¢ Tt Tl BT (A7)

Correct Answer :-
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« Handicap/ fa@anTdr

22) Which among the following is a type of Neurological impairment?/ ERL K
DI, af~aeta e &1 T ToR 32

1. Cataract/ Hifaarfsa

2. Glaucoma;/ TaTl Hifcrm Gﬁaﬁ'ﬂﬂ)

3. Cerebral Palsy/ THRISH T (IS UTRIT)
4. Arthritis/ 3reRsfew (fgam)

Correct Answer :-

« Cerebral Palsy/ JHARISHTET (SRS TTRIT)

23) While implementing the Juvenile Justice Act, the Central / State
Government and other agencies are guided by which principle of care and

protection of children?/ f&2iR =g siftf-rad # Sraifd 4 THY, H5 /T TSR
T4 37 Tl a=l @1 S@HTe Ud 3&f & fop Ryt & wiefia gidt 82

1. Principle of presumption of innocence/ ey 811 &1 IuyrRun &1 g
2. Principle of dignity and worth/ TTRHI Td A8 &1 Rigrd

3. Principle of best interest/ garad fed &1 g

4. All of the above/ B'Cl'ﬁaﬂﬂﬂ-ﬁ

Correct Answer :-

« All of the above/G'Cl'?iaﬂ‘le-ﬁ

24) Children who talk either for their own enjoyment or for the pleasure of
associating with anyone who happens to be present and makes no attempt
to exchange ideas are exhibiting which category of speech content?/ o =
T At Had WY F 3T & e a1 fipr fpelt ¥Q =afd, ot SufRua at @ W famt & fafwa
BT DS YT 81 BT, W TGS g1 & 3= & [ Iiad &, 3 91 faug-axg #f 579 3 fra
ATt PT WexH HT W B &2

1. Egocentric speech/ 3gdhi<=d didp

2. Socialized speech/ {-Ili-llvlnlcpd dld
3. Bilingualism/ fgHTfdar
4. None of the above/ 38 ¥ ®Is T8l

Correct Answer :-

« Egocentric speech/ 3ga{<d dld
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25) Schizophrenia is a:/ HAlfacaar (ReNwif~em s ... 81

1. Neurotic disorder/ df=eTdrdl fabR
2. Physical disorder/ RN [dHPR

3. Psychotic Disorder/ H9%dd! fadbR

4. None of the above/ $T5 ¥ &5 7ol

Correct Answer :-

« Psychotic Disorder/ Hrd! fdwR

26) On hearing a loud sound or getting any kind of a physical shock such as,
when the support from the head is suddenly removed, the baby throws out

her arms and arches her back exhibiting:/ ®13 d taf« g1 W 4T fomdft UpR o1

RS SmaTd T R, 99 R A TR saEs ger foe oM v, gy eroeft Yoy arer &t
3R it & Harar § 3R U FUR AYS AT 81 98 CRIRE ]

1. Moro reflex/ AR ufaad

2. Babinski reflex/awqﬁa?f

3. Grasping reflex/ UTe! (A& ufdad
4. Rooting reflex/ u@?trl%r (Q?%"I) yfaad

Correct Answer :-

« Moro reflex/ AR ufaad

27) Clearing the system of pent-up energy is known as:/ AT G Soll & oF Bl
TP (@Tell) B g3 B T ol &

1. Emotional Catharsis/ HTd-Td® fddeq

2. Emotional balance/ HIdATH® H~ci-
3. Heightened emotionality/ Jaftfd Gametemar

4. Emotionally perturbed/ HTd-Td® &0 ¥ &

Correct Answer :-

« Emotional Catharsis/ HId-THS fad=

28) Behaviour in conformity with the moral codes of the social group is

termed as:/ IS g B Afae Afarsi & srura d agR &t ... el STa1 g
1. Immoral Behaviour/ ﬁ%@ﬂﬂmw
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2. Moral behaviour/ Afd® TdgR
3. Unmoral behaviour/ @ (3FHRE) sId8R
4. Non moral behaviour/ Afd® @F-AR) TaER

Correct Answer :-

o Moral behaviour/ﬁ%?ila_s’l?

29) In which stage of cognitive development children are capable of using
language and symbolic thinking?/ J3THTH® faeTg $ 5T sy # 9= Wt v
ydteTae fRiaa &1 Iuah & ° gud gid 82

1. Sensorimotor/ TAdERTATAS (FTIHICR)
2. Pre-operational/ qﬁ%rmw

3. Concrete operational/ 319 dfhard®

4. Formal operational/ 3ol Sfparas

Correct Answer :-

« Pre-operational/ Jd-Sfehar@d

30) A child in pre-school age belongs to the stage of morality by constraint
propounded by:/ fa=Taa-qd 1Y $T S=I1 HGRIY (@THT) F HRUT AfdHdr B Srawit A gt
&, 391 ufaure ... 7 farar url

1. Freud/ Hise
2. Kohlberg/ HIceR}
3. Piaget/ s
4. Erikson/ TR&TA

Correct Answer :-

« Kohlberg/ CARGUE

31) A child who acquires a hearing loss in the first 2-3 years of life and as a
consequence does not acquire language is known as:/ 39 9 I T Bl o ad
SiTa & UYH 2-3 Ul § IS YqUT &A1 TeH 8 B! 8 3R aionya: 98 HTuTSi T8l a2
TPT 8?2

1. Speech impaired/ dT%-Tifad STfed
2. Deaf/EIﬁR
3. Hard of hearing/ ﬁ-ﬁ ﬁm%aé@rﬁ%m“’mgﬁm
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4. None of the above/ sﬂﬁﬁaﬂs‘%‘r

Correct Answer :-

. Deaf/sitR
32) CARE stands for is:/ &% (HT3RE) T QT A &:
1. Cooperative of Always Rendering in Emergencies/ ®ITIRIC 3T 3ffctael I8 3

TR
2. Consulting Agency for Relief Everywhere/ BT Toi=l Bix Rl THIdaR
3. Cooperative for Assistance and Relief Everywhere/ HI3{fiRfed Bk R U8 Raw

TataR
4. Consulting Agency for Recreation to Everyone/ FHfect Yol Wik fh TR QQ?:@?H

Correct Answer :-

« Cooperative for Assistance and Relief Everywhere/ PI3TaRfca HBIR SRRy U8 Relw
TaaR

33) Which among the following is a HIV prevention program for children?/

R A B9 91 9] T TP T3NS A ABUTH HIUHH g2
1. Prevention of mother-to-child transmission/ Wﬁﬁﬁlﬂwﬁwﬁﬂﬂ

2. Inclusion of sex and HIV and AIDS education for young children/ @%aa‘f%%mﬂq
e ud TasmSd! quT TSy RIef 1 gHaRH

3. HIV testing for children who are born to women living with HIV/ qa&néaﬁuﬁ%a%tﬁﬁ
S g ot T SMsd! Sird

4. All of the above/ B“Cl?jaﬁ gt

Correct Answer :-

« All of the above/ Iujad Tt

34) Infants belong to which stage of psychosexual theory of Freud?/ Aduild
Ry wigs & vl @9:w®) Rigia @ fea srawm # g 32

1. Oral/ Oifa®

2. Anal/ &
3. Phallic/ fRisfta

4. Latency/ W@I

Correct Answer :-
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35) HIV cannot be transmitted through:/ TI3MEA! ... § 8! e JhdT B
1. Sweat/ O

2. Saliva/ @R

3. Urine/ H§

4. All of the above/ B'CPQIHH gt

Correct Answer :-

« All of the above/ Iujad Tt

36) Dramatic play is also known as:/ TP HIST P ... Ht Fgad &
1. Constructive play/ TS Il

2. Make-believe play/ W-ﬁ%‘lﬂm

3. White lies/ 93 I

4. Free spontaneous play/ Hﬂﬁ@fﬂﬂﬁfﬂm

Correct Answer :-
« Make-believe play/ W-ﬁ%ﬂﬂaﬁéﬂ

37) The child begins to represent the world with words and images which are
represented through increased symbolic thinking in which stage of Piaget’s
Cognitive Development Theory?/ fUaTst & S3mTee faera Rigia 1 fog s d
ﬁ@%#mmﬁﬁﬁmwwm%muwﬁwﬁﬁxﬁam
SRY HIdl 82

1. Sensorimotor stage/ YAGRTATHS (HURIHAICY) AR
2. Preoperational stage/ Sfhal-qd Sraw
3. Post operational stage/ Sfoha1-UYTd a2l

4. Formal operational stage/ SuaTie Gfpar srawa

Correct Answer :-

- Preoperational stage/ |feha1-qd s/@=i

38) Which among the following scale is used to assess the health of new-
born babies at 1 and 5 minutes after birth?/ THF1 Q'q"sﬁmemqa\—srmﬁr{[aﬁ
P WA BT ATHAT B & forg 3987 | f5T G0 &1 IuahT fHar Srdn 82
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1. Vineland social maturity scale/ dli-—l?fs TTATSTS YR dT THTT

2. Anthropometric scale/ :FﬂTﬂ (@huﬁﬁﬁ) AT
3. Apgar scale/ TR AT

4. None of these/ sﬂﬁ@rﬁé:@

Correct Answer :-

« Apgar scale/ TOTR AT

39) The full form of ICPS is:/ 3MSAIUITH &1 [T AT &:

1. Indian Child Protection Scheme/ ST T3S UIcaRM WHIH (R Td I&T o)

2. Integrated Child Protection Service / 3¢RIRS A15cs UedRH Ifaw (FRfdd ST &1 )
3. Integrated Child Protection Scheme/ Sc¢hICS dTSes WedRM WM (FHfdd STeT & o)

4. Indian Child Participation Scheme/ £f$a4 T13cE UIERIURM W1 (WRAIT STd T HTRIAT
BISEN))

Correct Answer :-

« Integrated Child Protection Scheme/ S¢ics AT MR Wb 1H (FHIdd Tl & o)

40) /-\rranging things in eit!1er ascending or descending order is known as:/
T 3RIB! HH T TR FIA B ... HgT AT 2

1. Serialization/ HdGA/HHID
2. Classification/ CRIERU
3. Identification/fHTH/ag=T

4. Conservation/IRe&ur

Correct Answer :-

« Serialization/ ShHEG/HHID

41) The Child Labour (Prohibition and Regulation) Act was passed in the
year:/ §1@ 49 (oY g forawe) sifbferay o ... o urfya gam ami

1. 1980
2. 1982
3.1984

4. 1986

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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42) Which among the following does not stand true for Learning?/ ST

@ & fe 378 T 319 91 3R @2
1. Learning is a continuous process/ 3ifeRTH U Tdd Ufehar §

2. Learning is a gradual process/ WWWW%

3. Improvement in performance results with practice and experience/ ¥ ﬁT&IﬂW

¥ U gRomy S8R Eld ©

4. Learning process always leads to boredom and fatigue/ 3HfTH Ufshar ¥ Fag HRyan
(F) 3R Feredr Ias g 8

Correct Answer :-

« Learning process always leads to boredom and fatigue/ S{FTH Ufshar ¥ Teg FRYan
(F9) 3R Feraa Suagid &

43) Which among the following includes all measures aimed at reducing the
impact of disabling and handicapping conditions enabling the disabled and
handicapped to achieve social integration?/ 398 ¥ forad, 3r=ed vd fawein &
et FRufeal &Y gem, iR errea ud fasaiT St &) QraTire Tatd<or ure &% 4 § Jam
T W afera 9t Surg =fra 8

1. LabeIIing/@W

2. Rehabilitation/ 7aTd
3. Identification/3TYIH/age=

4. None of these/ Eﬁ@fﬁ'&cﬁ
Correct Answer :-

« Rehabilitation/ gard

44) I%DS scheme functions under the:/ TSHISITH AT & 3raitd B
A B

1. Ministry of Child Development/ TTd S8 fa®rd Hare™

2. Ministry of Health and Family Welfare/ a4 Td URAR 10l HAT(T

3. Ministry of Women and Child Development/ Afgel Ud aTd fasmra Hare™

4. Ministry of Social Justice and Empowerment/ STHTfSIdb <10 Td S TRAT HArad

Correct Answer :-

« Ministry of Women and Child Development/ Hfgdl Ud aTd fadb 9 Harer™d


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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45) Child’s understanding that objects continue to exist even though they
cannot be seen or heard is termed as:/ ¥ $t 4g IHe, fr gy faermm a1t gt
g, a9 Wt 59 I @1 g1 GAT 7 o1 APl g, T Heard! g7

1. Fixation/ fRRr (flhaazm)
2. Assimilation/ TERITA® U/ THROT (TRITHTRM)
3. Object permanence/ aﬁw@c—d

4. Mental equilibrium/ ATFRI® IRATaRT

Correct Answer :-

« Object permanence/ ?ﬂﬂwﬁm


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

